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¥  Objective

If you prepare these MCQs then Insha Allah Confirm your 12 /12 marks.

d A12/12 L Tl S o T

» You have four choices for each objective type question as A, B, C and D. The choice
which you think is correct.

When a system is in equilibrium, then: :;?Vﬁdﬂlp&éﬂ{j}gﬁ-’gﬁ I
The rate of forward Concentration
and reverse The rate of reverse The opposing of reactants
reaction becomes reaction is very reactions stop and products
equal D slow u.”.c,JE/digfdJJJg_’J C (JJ!JJJIJJJJE)/’(ILSJJV B becomesz(ual A
i .*""'" b . ! ke %
»--:.J{/"C'LJJJJXJJ:UJJJU {.b‘l?ﬂf/aff u,?L.b_fJ JJ/”/-U oy
szl v Ldbﬁ;ﬁfﬁ/{
In dynamic equilibrium: WA NP AT SR
The rate of forward The quantities of .
The reaction
. and reverse reactants and hrinec i
The reaction can no reaction becomes products becomes P g
longer be reversed procee

: . equal C equ l@ B £1 A
l‘:’ﬁuf’dxiié./"u’-{id; Qigﬂ;d;u&;ju;l};uﬁ JJ%WMJ e T8,

ebsss ¥ % S0 J I %“'H?J/j
In an irreversible reaction, dynamic equilibrium; @7)% (e jd;ff_ﬂ:f 5% ‘f*-/ ISaE st 3
Establishes after tb@sgg Establishes before
_ _ completion @ the completion of Never
EStathh? - D ion® - C [Raction B  establishes A
‘:.:'H?”Kg’d?% d&gld.f ﬂfﬁﬁ'é:_.d‘.,ﬂdjdﬁgld; rﬁujrfgd’f
<l v
Reverse reaction is: :ﬁ*_.ajc)&{ iS4 4
In which reactants Which takes
Which gradually Which gradually react to form place from left
speeds up D slow down C products B to right A
.:;_t"ﬁ)ff;.fﬁzﬁ v é.l:'ﬁ.:-ff@";ﬁ:? /g/gld;ujﬁ‘.{ld;uﬁu) “-’"l’U:L"-'U:,L?
U:"LLHJ%L{,L {_.l:'yzélj
In the lime kiln, the reaction goes to completion because: :;:_,.?:J .J_.m)‘{ fg Satstol %l ig| =
CaO is more stable
| CaQ is not Constant release of than CaCO3 High
dissociated CaO D CO2 C w36 Ca0 .’ §CaCos B tempef‘ature A
(25 2§ it b KCOz

L ol
l:y.-:(g/ /:
In a chemical reaction, the substances which . . - p
O et QSIS ATz LSS 6

react together are called:
Numerator Equilibrium Products Reactants

pee D eas Fhy P Hae A
Plants use ........ for photosynthesis: LS é.iﬁ“‘;{ Jesd 7
Sulphur Nitrogen Oxygen Carbon dioxide
/;JL« D P Fl C ST B ,i;LfTJr?c):;Kt/ B
The color of iodine is: e bt kBT g
—_— =5
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reactants and products at equilibrium state have:

moderate Kc value
%Sﬁ&k‘;u}-:g}/}(c v

None of these

D C

B M PRTT
very large Kc value very small Kc
; B A
+dndj¢;;<y}.:J Kc value

q www.pakcity.org (j Class 10th: Chemistry Guess Paper b
Green » D Purple § ¢/ & Yellow i B Black v¢ A

At equilibrium state, there are possibilities: 0@ pakcity.org %ﬂ ?ng yuﬁ B4 LaJY B IPN ie 9
Five @ D Four /& C Three & B Two s ¢/ A

The color of HI is: < L4HL 1
Colorless f.e ¢/ D Red { ~ C Purple (/« B  Orange sl A

';lill:l—:*ezl:,lbstances which are formed during a chemical reaction are B P, g 11

Elements Radicals Reactants Products

ook D %5, C u,.{{ 5 B i v A

In the beginning, the rate of reverse reaction is: :gg_t'yz:{,JKﬂ@w{uuﬁcgf 12
Slow =T D Very fast 7=« C Moderate <* s B Less ﬁft/ A

i e R i
3 B ol Egmd sz VUL £ £ A4 2.86 mol~2dm®

Only H> H2 and Nz only NH3z and Hgz, N2 Only NH3

Hz &~ . H2 .5t N2 S 2 E NH3 st H2<N2 - NH3 &~ ¢/ -

Molar concentration is represented by: :,f_w_,u’/;wfﬁ?% 14
All 12 D () G [V B {} A

Guldberg and Waage put law of mass action in: :gﬁL.f,;,ffgﬁfngt_iju 15
J~1889 D 1879 C v - 1869 B 1859 A

Who presented law of mass action? @Q ?y’ﬁa’_u’(f{utd?}u 16
Moselay s D  Rutherford 5. M\Herg S ¢ B Daltong’s A

The units for molar concentration are: ($\ B gl P /// 2| 17
mol dm3 ¢ D mol dm3 wj%} mol-ldm3 B mol-ldm-3 A

:;greszpnizlgl; " rate constant of f}gjﬁgaﬁﬂ’ reaction is SRIg Sodifa e L i 18
ks D C K B ke ¢/ A

For a reaction between PClg\ﬁTd Clz to form PCls, S 1L KCUt 16 £ L 6PCls « Clp 5PCls 19
the units of Kc are: wr
moldm?3 D mol-ldm3 ¢/ C mol-1dm-3 B moldm-3 A

The value of Kc depends upon: :.;.JU;IK’%,*JKC 20

None of the above Both [nitial concentration Temperature

AT Ui S T LY

n 2 reacion,when e rumber o Mles 00D, G rputoest s
No unit u:“ ..t;ng v D mol dm3 G mol-2dmé B mol-2dm A

In balanced equation Ny + 3Hy (g (/Jd:f!u*Nz(g) + 3Hy(g) € 2NH3g) =bl-wii® 22
ot 2NHj3 4y the units of equilibrium constant are: A 1 L
None 7 3y D moldm-3 C mol-1dm-3 B mol2dmé¢ v A

The Kc units for the following reaction will LKCe & Hygy + Ix(g) ¢ < 2HI g, FHEdies 23
be: Hag) + lag) & 2Hlgg) Lty
mol dm3 D None ¥ 35/ v/ » mol-1dm-3 B mol dm-3 A

Reactions which have comparable amounts of Suiunde s Ju’%b;ﬂ' U’ﬁ{'@dzy‘?‘&’g’d‘*é' 24
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c@ pakcity.org %c b eredsdKe

e dn
When the value of Kc is very small, it represents: :ﬁ;_J/ﬂw?ﬁqu.%sJKC..,e 25
All reactants will Equilibrium
The n;mltjer of Reaction will go to convert into will never
PLEMHLES 15 - roducts establish
negligible ¢/ D completlf)n C p u";'{ B ] o6 £ 15 A
2 I ; f&.bﬁfc):‘gld; U:Jf”‘i} SV VAR T
Sl crni S5, ’ P )
‘ ZJSentw § v
When the value of Kc is very large, it indicates: :La.Jfﬁw,?m:pm%-:JKC_,e S
Reaction
Reaction mixture Reaction mixture mixture
has negligible Reaction has not almost consists of almost
product D gone to completion all reactants ‘fg 1S B consists of all A
sfecit 7 P46, i S s P A I?rfducj;‘/
w_,_zyu—b/j;,{. L{?Llﬁ?,&-k {'f-/v“{f( :ldj
| e 40y
The large value of Kc indicates that the reaction will be: :(xﬂldjf.f_gjf&wi:}qdmdj:JKC A
Proceed in the Proceed in the S
: : . . Completed In equilibrium
reverse direction & p forward direction J"( B 7 A
gab_,/bd’ Kz_b_:)JZT v o SRS
If Q. < K. then reaction proceed: \ :ﬁ»_uwj{j“frd; Q. <K. /1 23
A( O
In both directions Equilibrium Reverse direction F.D rwgrd
L .k D i C \\‘C})Jé B direction A
S Ui VA (ES @fg&{>’/,"’ 7= SHAELTV
) : "
If Q. = K, then reaction will proceed: _Wﬁ&’ 2 b InQ. =K. S 09
None of the above " In equilibrium stgl@x . Reverse . ar
; ke Forward L7
A Lo, f,%@ax &
In reaction N,0, & 2NO,, the x@ﬁi&if Kc will be: e (KetFHIGN,0, © 2NO, 30
N\ ﬂ i
0.212 D AN9.211 v C 0.214 B 0.213 A
In a reversible reaction if Q. = K, then we can A L s, s
: 1/ e By = oS = ION S 1Y 31
conclude that: S o4 (1 Q Kcﬁtff('d J= gl
Reaction is
ON i occurring in
Reaction is not at Equilibrium has Rgact}on e forwargd
b A occurring in reverse HLyve
gl rlu}“ D r C dirotinn B direction A
e A% e B n ol JSk v S ES SAELTAE,
il
For which reaction, ks is rate constant? ?9:’,&5;@4,; ke Lot 32
Downward reaction Upward reaction Reverse reaction Forwgrd
ﬂld . D J‘-{lo’ "y C j"-’-/igj ; B ‘reactlon A
133(2)313 I303 OpLY, u);{'dﬁ;uﬁ W,
If Q. > K, then reaction will be: :fﬁﬂIdJ;ﬁQc >K S 33
[n the reverse In the forward Chemical Static
direction D direction e equilibrium B equilibrium A
A&V e § 2T PRI PIr I
A base is substance which neutralizes an acid. ; % :
0Py el ot il ne St 34
Which of these substances is not a base? Quﬂu:‘“g L’JLU’UI%W J/’:;M"lfﬂai o
Calcium oxide . Sodium carbonate . Sodium chloride " ;gﬁfg;i i
b § b 5 4 k P
J“VLJ'T(:? -....;-:},’,JE/F:J}" ;‘.:-l,ubﬂ:;r v Q:*‘IJ)JQ
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Lewis acid-base concept have the following characteristics

e St s deer? S et | 35

except:
Donation and Donation and Formation of a Formation of
acceptance of a acceptance of an coordinate covalent i o 1
proton D electron pair G bond H | BRSNS | B
L‘/Jxr’.nll:_f_; gc)lf’:,;, v L’/JJJMJK}.&U}}QI @Kﬁ;&%ﬁ:/&jﬁﬁ:’/ 46
Acetic acid is used for: e baJeiid L k... 8L 36
Cleaning metals " Etching designs o Making explosive . Flavoring food A
L P M o217 Sl RS2 (2 4
Dilute acids react with carbonates to produce the Uf e s pir LTI B L UF Kt eskls 37
given products except: ¢ L u{ oy
Hydrogen Carbon dioxide Water Salt
b D n (1 C ’ B & A
Pk v AT Bk 3 a
A reaction between an acid and base produces: -;;.L?rc:,ﬂid;uyﬂéufmmug 38
Salt and a base Salt and an acid Salt and gas Salt and water
D 1. C 7 B : A
Jr sl eA Al sl A ﬂ/m:r’b v d[:_nl:)lf
The product of Lewis acid-base reaction is called , ;
¢ -y by DL PR ST (S Sk { 39
adduct. The bond between the adduct specie is: g ’*L“[JJ’A’{.JJJ'J S
Coordinate covalent . Metallic . Covalent . [onic "
H:-I:.Jﬁj/:-f}.;i?;“ A dﬁ{d/ ST
E}?j water of crystallization is responsible for s S B S 5T 40
Transition point of Shapes of crystal Bmhng gtplyts of Meltlng point of
crystal D s (A S C crystals A
K&i;ﬁﬁiiéﬂ}/ eSSV @)\ ;uf& Foak o8 ] Kf’r{b@z:f/
Which one of the following is a Lewis base? Q f@! ?(‘;.ufJJJ..UJ[c:..JJJ,:MX-" 41
AlCl3 D H* %>\E BF3 B NHzv A
According to the Lewis concept, acid 1S<§,\s/ubstance which can: 'i;.é,uinuglpulaw»zifﬁu‘ﬂ, 42
Accept a pair of Acc &?proton Donate a pair of Donate a
electron D \4_ / & electrons B proton A
Q_EC//J::’./?K/:}.@N/ JY’ULH %.CCL.J//.'.'::K:;J/&'QI .Lﬁ.r-Cé.JLﬂE'L{:
Which one of the following species is not amphoteric? ?.:;_u:fJﬁ%lujﬁr_ufJ_ig.;p 43
SO ;* D HCO ;v C NHs B H20 A
The conjugate acid of base Hz0 is: e LA ZWH00F 44
0-2 D H30+ ¢/ C H> B H* A
The meaning of Latin word “acidus” is: :,T_.,Jb‘KJpnluﬁgg;qu 45
Sour ¢4 ¢/ D Salty u:f’ L, Tasteless 15 B Sweet A
......... is not mineral acid: i .f,t;,i‘_)/......... 46
NaOH v/ D H2S04 C CH3COOH B HCI A
Acids reacting with metal sulphides, liberate gas: 1l /T C-,JBJ-'-? zLJ &.C!JJLJJEL&LJ% X 47
Hydrogen oxide Hydrogen sulphide Hydrogen Oxygen
) D . 1, # , B . A
AT fasdz| WGk i o ui:(i
When bases react with acids, they form salt and: LIPSk 48
Carbon dioxide 5 Water ’ Hydrogen gas . Oxygen gas "
%’MJB@;K d,L, v JJ/ o Jf «f/
Which of the following is not an acid? ?‘L;_uﬁf’?lyj'vc:fz,ddian 49
H+ D NH3 C BF3 B AlClz v/ A
The natural source of citric acid is: :9;3;53;,3(;;:!,@% 50
Sour milk D Lemon C Fats B Rancid butter A
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Rancid butter has a foul smell because of: :.f__,?,d}dﬁdui_?';_f‘:ﬂ 51
Sulphuric acid Tartaric acid Nitric acid Butanoic &t
S Son v LSk s LS FL P v il
According to Arhenius concept, base is a specie which: e Elb Lo P LT 5
Which can accept a Which can donate a Gives H+ ion in
proton from other proton to other Gives OH™ ion in aqueous
specie D specie c aqueoussolution p .solution A
Jﬁuh{,;a"-d/uo’(ﬁ L,:ujif’s,;fid/uujﬁ e GofT ST TSV
G-/ »:'—6': <G JTHT U2
......... is a lewis base: e ko | §3
NHs3 ¢/ D BF3 C H+ B AlCl3 A
In strong acidic solution the color of litmus becomes: :‘:_t'tgﬁjJK;/Hufc?}*JM;ﬁw 54
Colorless —f e D Yellow i s Blue 1 B Redlrv A
Uric acid is found in: e bbllidSiy 55
Grapes J#) D Apple —» C Fats J‘f B Urine_:v A
Which of the following is used for the preparation of soap? ?ﬁ;ttggdﬁlufngJc;ué;utJuja;: 56
Fe(OH)2 D NaOH ¢/ C ZnCl; B Pb(NO3)2 A
The taste of acid is: :‘;;t*ﬁjrsgjp,l 57
Salty u:g D Sour J ¢ C Sweet ¥\ B Bitter 152/ A
The taste of base is: /Q} e bn 6% 58
Salty u.‘:Q D Sour J” L\E\E%veet Vs B Bitters) ¢ A
......... is not an acid: a ;g:b el A s | 59
H>S04 D H2CO3 Wd‘> NHsz ¢ B HCI A
The acid which is the king of chemlcals 3 /\v :;‘;_ub’::gk{ﬁ..{ﬁ..,i)f'u 60
Acitic acid Hydrochteric acid Nitric acid Sulphuric acid
el D ) \M Ky L . IASF P v A
Which base is more corrosive? tews otV 6
An(OH)3 D Ca(OH)2 C NaOH ¢ B NH4+OH A
Arrhenius presented the concept of acid and base in: W B sl ST 6
1790 D J-+1789 L J-+1788 B vi,1787 A
The conjugate base of HCI acid is: :LLJJEKKMHCI 63
NH4 D Cl™ ¢/ C OH™ B H* A
The conjugate base of is: :,:-_t'xuf;ﬁf'(b’ 64
H;0~ D H,0% C OH™ B H,0 ¢ A
The acid used in lead storage batteries as electrolyte is: e /7 sl w1 s 2108 S 1 »4 65
Citric acid Formic acid Uric acid Sulphuric acid
IS p - INL : Ay, - 1S o -
Which acid is used for the preservation of food? et Uil d L& S5 S 3 66
Benzoic acid Hydrochloric acid Nitric acid Sulphuric acid
I . 1S i, . IS K . IS -
The base which is used in alkaline battery: :?JﬁdWIﬁﬁﬁdﬁcflﬁll 67
Mg(OH)2 D KOH C Al(OH)3 B NaOH A
The first acid known to man was: B LA e ndle o 68
Nitric acid Sulphuric acid Acetic acid Benzoic acid
LIS FL & LS . ] . y oy =
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Lactic acid is found in: D@ pakcity.org %D e bbllid BE g9
Lemon " Grapes , - ~ Apple . Sour milk "
ur.‘.’ .uf(l — o3slvils ¥
Bronsted-Lowry presented the concept of acids and bases in: ?ufﬁ_/;;;ﬁ‘f*/j AN 208849 70
J+1943 D v 1923 L 1823 B 1787 A
The acid present in sour milk is: e AWl Lo nZ 7]
Uric acid " Tartaric acid ; Formic acid " Lactic acid ¢ 2
y Y, J S y Y J Ry
Citric acid is found in: e bblldaS 72
Sour milk Lemon Fat Urine
b D #» B , A
e 2999830 Sk Y 3z S
The binary compounds of oxygen such as carbon f""u”df.r/alﬂsiﬁf’mdlicﬂszbfiiigdfgécfff 73
dioxide and sulphur dioxide were named as acids '
by :k.a(‘l:K}L{l
Hamphry devy Al Jahiz Lavisior Jabir bin Hayan
; ; D ; C v B ;
_Sy3 At 7l PRSI 4 o isle
Word acid came from: e 3PLAE) 74
Latin < 5931 ¢/ D Indian « 53¢/ %I C [talian < 53 L B Greek ‘:,Jsﬁl&i:g A
Maliac acid is found in: e bellddLl 75
Butter uﬁuﬂ’( D Apple i vV L. Fat u‘dg B  Urine u.?h.._,.f(:‘f;. A
1| Butyric acid is found in: /@Q’\ \ :.;‘:.E‘L?.L,.EHIJEE’{‘ 76
Rancid butter uﬁo‘z‘(ﬂ v D Grapes Jum’?! C \Jiéts u"u—" B Apple Sfusr A
| Bases on reaction with ammonium salt release: r//&\ 'Jd/@&i/&ffd;ivﬁﬂwirlyj 77
Ammonia gas Sulphur dioxide gg;g%a\/ Hydrogen gas Nitrogen gas
7 D \L_, >C B P o A
lef:"f v J/ybfdl: \\/ u"fu’,uy J[UZ:/L
In strong basic solution the color of@ﬁrﬁls turns into: :é_r@ﬁj;{u"yuf;f;’#,@ﬁw 78
Colorless .o D \BRed Ur C Blue I ¢/ B Yellow ik A
l/}/(ilﬁ?sghemlcal is used for removmg grease from ?er@gJWrdé{Vufé LAbul RS el 19
- : Ammonium Aluminium Ammonium
Aluminium chloride . . .
" D hydroxide C hydroxide B nitrate A
s ST dg\ o S Tos a5 L Fl
The formula of citric acid is: e U B6LIS 80
C17H3sCOOH ¢/ D C16H31COOH C C15H31COOH B Ci4H3:COOH A
Which one of the following is lavoisier acid? ?ﬁ;_,igfﬂ__flﬁtfc):’/ 1
NH3 D HCI C H2S04 B CO2 v A
Which base is used to neutralize acidity in the . rada
> . it Ploge ¢ 82
R et @JJWIU:VU/;L:_/(’@gIJ;_m
KOH D Mg(OH), ¢ C NaOH B Ca(OH)2 A
Acid used for flavouring of food is: e bbb ofd L J08 /7 g3
Nitric acid . Sulphuric acid " Acetic acid . Benzoic acid &
AT L Sonit LBy 2 S5
Which compound is amphoteric? ?g.q/ﬁ*%lJ/LJ/ 84
CH3COOH D HCI C NaCl B H20 ¢ A
[f a liquid has a pH7 then it must: Ky dn pH7JéLo’/fl R5
Be a solution Be neutral freeze at 0°C and BE coliess
e D . C . 0 B andodorless A
containing water JiE boils at 100°C liquid
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J:‘*ﬁ”{.&g a@pakciw.org% 4 OOCJ:IJ’rf:{, 100°C s b
o ; 2r
The pOH of 0.001M solution of KOH is: ng pOH § & +M0.001LZKOH
4 D C 11 ¢ B 3 A
The sum of pH and pOH is always: e byl 2644 § pOH LsipH
1v D 7 C 0 B 1 A
Which is common indicator? ?Lé;fjcnrbg Sd
None of the above pH paper Litmus paper Methyl orange
S8 0 pH v /.-.aJJ v . L o
The sum of pH and pOH at 259C is always: :§_tﬁ414x;ﬁﬁ’ pOH s pH £250C
14 ¢ D 10 G B 4 A
The pH of neutral solution is: I;T_.gﬁpHd/c;}L"J;!f
12 D 8 & 7V B 6 A
The pH value of a neutral solution is always: :‘géﬁ,%gfj#&ﬁé,érq
Ze‘ro " Equal to seven ¢ ; Less than seven . Gre:;izzhan 4
o Al =l H/,;:_..:_,La il sl
Values of pH and pOH are: bt { pOH LsipH
1to 16 D 1to 13 C 0to14 v B 0to10 A
A salt is not composed of: . et L2 FTU =
An ani?n of an acid . An anifm of a base . Non- met%fhgamon . o (I;fits:]lic "
S L AP N;KM*QL v Jb.:"u@;*
:V(:ll; J\Sfint to dry a gas which one of the follo li‘/;élts you ?LQ/JL;H_UVLJ:(“&LL/,@})/J;
NazSi03 D CaO \’@@} G NaC(Cl B CaCl; ¢ A
gZ?gl?;ti:fesdgeact with ammomumf%l@s “which o e i Jf d) Sal Sl o A f:f" /:g'-—-’
NH; v/ D \\Q/MZ C CO2 B 02 A
Which of the following is an example of complex salt? ?;.F_JL‘E-JJL:J%/J@I/LJJ_%H
Sodium phosphate . f{i‘?‘f}acsysa]:‘ll?c]ls : Potashﬁalum . Zinc sulphate "
O A TS YL 3 fi"{ o ﬁueg b £
Potassium ferrocyanids K,[Fe (CNg)] is: i« K4[Fe (CNG)]gtgw/é(feg
Double salt Complex salt Mixed salt Normal salt
Sl k3 & It v k 055 4 0 S &
Ca(OCI)CI is an example of: :« JCa(0Cl)Cl
Mixed salt Normal salt Double salt Complex salt
ALV . Sk a 3 . 2Auts -
Which of the following is acidic salt? Ce Sl gf = el
Ca(O0CI)Cl D NaCl C Al(OH).CI B KHsOs ¢/ A
Salt formed with the reaction of HCl and KOH is: :f,rﬁnaf_ﬁ%dV£;.LufKOH »HCI
Complex J’g:{ D Neutral J/ ¥ ¢ C Basic =+ B Acidic A
Which of the following is used as fertilizer? ?ﬁ,t‘tgy’JL&u;?'Uj};#//;.ufdjan
Bothaandb Sodium carbonate Potassium nitrate Gypsum
Ui il 3 L Ky Z > jfL'(.fE Ly B < @
Bleaching powder is an example of: a_dme_ff‘L
None D Double salt C Acidic salt B Mixed salt A

87

88

89

90

91

92

93

94

95

96

97

98

99

101 |1
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Jabir bin Hayan gz D Dalton JK\L“’

The branch of chemistry whﬁ/&égfs with

hydrocarbons and their derlvatl\ s called:
Analytical
Pt élcal chemistry
chemistry D

C
§ A S s

The bond energy of C - C bond is:

555 kJmol-1 D 455 kJjmol-1 C
Carbon is:
Compound Metalloid
<7 D Vzles ‘

The example of heterocyclic compound is:
Pyridine (/3§ zL ¥/ D Cyclohexane u;%';y@’v C
The chemical formula of urea is:

NH4Cl D NH;CONH; ¢ C

Coal having 90% carbon content is called:
Bituminous u=~+% D Anthracite .i'..fbfl/’;:“:'# v C
Main component of natural gas is:

D Methane u:‘;‘/ v C

The strong heating of coal in retorts in the
absence of air is called:

Propyne ¢/Ls

Destructive b Roasting .
distillation e,

ﬂ www.pakcity.org . . Class 10th: Chemistry Guess Paper b
V{irs Sl el S Jolif v
KCl is an example of: < JOKCL 103
Complex salt Mixed salt Normal salt Double salt (3
D , C B A
s Sahsk Seldt v ay
Which of the following is double salt? fe U 104
K2S04.Al2(S04)3. i
24H,0 D AlCl3 C Ca0 B NaCl A
The ability of carbon atoms to form chains is called: _wifafuzJLt:uﬁd/ﬁic;;K 105 IC
Resonance - [somerism Catenation =
i3 D Condensation u’»’,ﬁ/ C o B .. A
S (28] Vel 4
In laboratory urea was prepared by: oAl z_urﬂlm/ SSM 106
Dalton i} D  Berzelius u~$;» C  Rutherfordis,s, B Wohler v A _
Which one of the following is not a fossil fuel? S LIRSSt Lo 107 |
Petroleum " Biogas ’ Natural gas . Coal " -
3y SNV JLdu L :
Which one of the following does not contain protein? ?Jﬁﬂﬁﬁfoﬁjéwfau::digxﬂ 108
Eggs < ki D Beans Jfus¥ C Potatoes JZui/T¢¥ B Pulses ususy A :
Which one of the following statements is not true ; s L !
s P syl e AL 109 [+
about fossil fuels? i b e A LIRS I
they produce they all contain
they cause acid rain pollution when they arerl”\gl\re’bable . carbon
AE oS A torr it . Nﬁil:\bc).-utﬂuw V J ki, B
LT Aienl (g\ B3
. ?7**:’* -
Who prepared the first organic compound ure@ I LJgkigu@T%

Arrhenius _u=%7 B Wohler /¢ A

e Qe 3/ Ik g s Lk 2 w6 A4 111

Organic Ch?mistry . EEEEEE; "
d/ﬁj“/-ﬁf/j v dﬁ{uﬁ_fifd'
cdandnc-¢ 2k
355kjmoll ¥ B 255kjmoll A :
e dneib 113
A non-metal A metal
=l £ LV . =les L] =
e JEU B2 4]
Hexane cg‘/é B Benzeney~ A _
e kSt 115
NH4CN B NH«LNO A :
?.,/E;_,I:'Jlgl/uuj!"_mﬁrl}’i'lL@JKMQOJ.L’:Q/? 116
Lignite es0 B Peat = A ‘
?%ﬂdd;ﬁf'(ﬁfgjﬁ 1171
Propane s/ B Butane w;: A _
SIS S iAo K 2 Sz endln 118
Sublimation Fractional H
b 2 distillation o

IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
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Pitch is black residue of: ' ?a;;.dud:ayw/@' 119
Coal gas Ku‘f,ff D Coal ¥4y C Coal tar §€Jst ¢/ B Coke k¥ A

Natural gas is 85% methane. It is used to make:

S bl

Coal gas ﬁ? Jy D Coal tar .t Js C Coke Y B Caj;ii:lé(:k A
Which one of the following does not contain starch? ?Jﬂuﬁ;u?r@;bui’ufa,uﬁd@p 1914
Potatoes #7 D Barley # C Maize §* B Sugarcane /v A
Petroleum is refined by: ?ér@gjﬁ;;&)uf;uiiswﬂfﬁ:ﬁ, 122 |

Dry c}is!:illfltion 5 Simple distillation . cll:i?;ltliaili]jrl’l o 3?;31“; i‘;:: "

o s FE K FUE v FE W s
Which one of the following is the hardest coal? te Sfgies vl e tdisier 123
Anthracite <2 /5‘;4 ¢ D Bituminous u=<% C Lignite g B Peat <. A _
Carbonization process is the conversion of: ?‘Jg:&/ﬁiuil{f.@jéd,ﬁ/ 124 |
Wood into coal tar Wood into coal Coal into wood Coal into coal gas

Sk JISsA . VBTN K% ¢ pusses B Lwdiyy 2

Coal gas is a mixture of: -q:-/,f fU/ 125

CO2, H2 and CO D Hz CHsandCO ¢ C COg, CHg((a\j(hCO B CHsandCO A

Grmmten o St e oy S| o 50400 0 popa ! Cois B
Cracking Hydrogenation (é\f Catenation Carbonization

% b S %\/ T 5 gawe 4|

Percentage of methane present in natural\@;sp % :%L"ﬁf&/ 4 g,"’;f B KJf AP 127

0.9 D 0. 85\1.4\0 A 0.8 B 0.75 A :

The amount of carbon in peat 154’\ \‘\) :%5ﬁjlﬁ’d/@}gg)ﬁdﬁg. 128 [
0.9 p U085 v C 0.7 B 0.6 A

The percentage amount of carbon in wood is: :ig._‘.fl:i‘,wéﬁcﬂ;t{ufd}a 129

0.7 D 0.6 C 0.52 B 0.4 v A :

The amount of carbon in lignite is: :‘:-_JIJLE»JCJ:;KJ&J 130 |

0.9 D 0.85 C 0.7 ¢ B 0.6 A :

Which one of the following is a synthetic fiber? ?é_ﬁsuﬁfwvw/;.uﬁij,;.;p 131

Silk & D Nylon u#t ¢ C Wool Js» B Cotton w¢¥ A

The formula of ethane is: 11-:—U:"JWM.&" 132 |

CsH4 D C2Ha4 C C2He ¢ B CH4 A :

The molecular formula of butane is: :,»_ums)r%’u}y- 133 [

CeHe cone D C4H12 C4H12 C C4H10 C4H10 ¢/ B  C4Hs C4H8 |

The formula of decane is: r_.umbKu"( 134
C1o0H16 D C1oHs C CioH22 ¢/ B C10Hz2o0 A

The hydrogen atoms in pentane are: :ugixﬁ.ru’wi’wﬁuf;% 135

16 D 14 C 12 v B 10 A "

The other name of alkanes is: el /”Kj-ﬁﬁ 136

Ethylene 2 D Paraffins 7z v/ C Olefins U B Halogens =& A '

The functional group is found in: ?%b@kggf:d(?}'ff@ 137 |

Carboxylicacids D Alcohols C Aldehydes B Esters A I

IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
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JII MKV o i JE LS AM J
In which of the following groups, oxygen is /=/¢iEusl/ UInLF TLRS e of s oin
attached on both sides with carbon atoms? sl ste
Ester D  Aldehyde sxgi  C Ether A1 ¢/ B  Ketoneys A
Organic compounds containing group are called: Ul Jiig_ﬁ_ﬁw_ué.ff;f
Carboxylic acids Ketones Aldehydes | Alcohols |
I T 5 s . JELS Ak - Sl o/ a

Which one of these hydrocarbons molecules J”f’df/J}”u)!{'cf—u”:ftf’fc-u“/:ﬁl-uzﬁml(uf
would have no effect on an aqueous solution of

bromine? We/
C2H> D C2Hy4 C C10H20 B CHs ¢/ A
Halogenation of methane does not produce R b R A"
which one of the following; Gt Sl ofe s e - d

Chloromethane Carbon black Chloroform Carbon.
u“;‘/ P D - C o § B tetrachloride A

S A s g2z i"l;;ﬁj:é’g:;{

Incomplete combustion of alkanes produces: “L&m,ﬂ_;ij{ L'L;jfl

Carbon dioxide and Carbon monoxide and Carbon monoxide Carbon
carbon black D carbon black C only B dioxideonly A

s K IS5 L ST I S ST I S ST er K
Which one of these is a saturated hydrocarbon? RO V4T Ui Ll
CsHiz ¢ D Cs4Hs C CaHg \ B C2H4 A
J

One of the hydrocarbons reacts with one mole of L/J'({/ TP, A E I LXK s

hydrogen to form a saturated hydrocarbon. What 5 -'\x\ : , - o

is the formula could be of the “X"? Q&Q)_ ot Uy 67X e bl Kb S
C7H1e6 D C4H10 Q\@ CeHiz ¢ B C3Hs A

Dehydration of alcohols can be carried out w@h ?.E:.[sctf- Jﬁvif ekt s,gjpu’?;l’l,djdfﬂoﬁ
HCl D 2504 \5“ C KOH B NaOH A

Substitution reaction is the charactéhévlcs of: ?,f_afﬁJfauﬁJuja;;ﬂUML;p
None U (s UAu D Wes K7 ¢l C Alkenes K//i B Alkanes K/I vV A

Halogenation of methane in the presence of % 5 L7 g
diffused sunlight takes place: ?n&'dﬁu)’ujf’&;‘;fd:&fﬂm’”(w*JZW’"

: In a series of four . Suddenly, only
Fastly in two steps Slowly in one step ,
Py o D step C 2P B inastep £kl A
- ) s et e

e Sz e8f ke V e Sl sl
Which one of the following is a substitution reaction? ?;:_C;‘g ISKL U = St 5.0 0a

Bromination of Halogenation of Halogenation of Halogenation
alkenes D alkanes C alkenes B ofalkynes =il A

N FEEkd A v Ao S

[f an organic compound has 4 carbon atoms, all ;Uﬂﬁ}m{l}J:Jfﬂlﬁmff.icfdb/ﬁl-:ﬁwﬂf,ﬁﬁ
singly bonded, it will have the following ' e

characteristics except one: KE L 2 5. ERYAVAEIIN
it will have 8 it wi
it will be least its name will be n- o Eve it will be
_ hydrogen atoms. saturated
reactive. D butane. ¢l 4 B A
i f/ - - LUt P8 hydrocarbon.
<0 ¥ ¥y J -~ = Jf‘*-z‘.:nr'nj V _{ﬁ@;();j&/kﬁj{f

What is the molecular formula for the '
eighth alkane member, octane, which is found in ...a""_.rtgkkuzJjﬁffgﬁgUfJG/{ngﬂﬂ/(_*):hdlg_)}';’f
petrol? ‘

CgH2o D CgHig ¢/ L CgHis B CgHsg A

General formula of saturated hydrocarbons is: e U B 26K i S

138 |

139 |

140 |

142 |1

143 |

144 |F

147 |

149 |
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CnHn D CnH2n C CuH2niz ¢ B CnH2n-2 A
Which of the following is saturated hydrocarbon? e i S i iy 152
Methane f v D Ethyne C Propane (#s/ B Propyne u:/_g_:,; A !
The formula of pentane is: :é.unﬁm:% 153
CsH1s D CsHs C CsH1o B CHpv A :
The number of hydrogen atoms in pentane is: :ugz.;fﬁ.rd’wfc’gufﬂ 154
16 D 14 C 12 v B 10 A ‘
The chemical formula of chloroform is: :,T_Ur,.»ts&g Kplsmb/ [
CHCl3 ¢/ D CCl4 C CH2Cl> B CH3Cl A 1
Which of the following is called paraffins? P pla tdits 156 |
Alkyls # ¥ D  Alkynes 741  C Alkenes = B Alkanes & v A _
The main source of alkanes is: :gﬁ:_u';f(?lb/jg 157 |t
None of 1311& above . s gasgaarsld water " Air and ujater gas I 5 Pe;;?iizlné j:d " _
A3 A LS oA s Ay v
Marsh gas consists of: ;,f_gﬁy"’/‘ffua 153k
Methane f v D Propane (/5 C Ethane u:%'l B  Butane u:,:: A :
Alkenes are prepared from alcohol by a process called: *‘Lt'tpuﬁg:jéfuf;'ﬁﬁffﬁ 159
Dehydrohalogenaton Dehydration Dehalogenation Dehydration :
; gl AN . V A . T Lﬁ{ B S 2 XS5 o
Dehydrohalogenation takes place in the presence of: fe @’” ; GJ?}“J hd ;.JJ';;;MU"’, w08 160
Alcoholic NaOH Aqueous KOH C\ Aquetys :
& NaOH J S EKOH v & \ﬁ:ﬁvﬁKOH v . g &
/g (\)\_/ J £NaOH .. _
Oxidation of ethene with KMnOj producegi,,\\a,, i e il ufe 22T KMn0s$eZ™ 161 |
Propene glycol ¢#:4 . Ethan}‘e\@ggc%l’ ; o J/TJU? " Oxalic acid /7 5
JI3K J‘ Y Jo
The end of the product of oxﬁﬁtlon of acetylene is: ?;;;_Lﬁfw%dﬂ(ﬂ%ﬁu@fg'l 162 I
None of these Glyoxal Glycol Oxalic acid ;
L3S o Neil's i IO . LA MST A
Dehalogenation of tetrahalides produces JﬁwwJffdm-a-dfjlau/"f}"dn@ff&ffﬁ 163
acetylene. This reaction takes place in the I
presence of: ?g_t*yzufd/:zrd/fa.bﬁ
Potassium metal Magnesium metal Zinc metal Sodium metal
Fiey . S £ . F v B B | B
The order of reactivity of hydrogen halides with alkenes - fnjd/}i’[gd’wi’l,jvéz’ﬁ 164 It
HBr > HCI D HCl > HBr C HBr > HI B HI>HBrv A f
Oxidation of alkenes produce: e e 1T J/ 165 I
Formicacid 4226 D Oxalicacid 22017 C Glyoxal J”( T3 B Glycol Jlkv A -
Which reactions are the characteristic properties of alkenes? St et rfelJ /«fi -1 82 s
Addition reaction Reduction reaction " Oxidation reaction . Surl;se;c(i:?i.l(;c;on 2
S R T PG T s E il
Alkenes are also called: AU f ......... A 167k
|Aeromatic compounds Acetylenes Olefins Paraffins -
SEAF sy & o 5 Plsl o 9 Pl A
General formula of alkenes is: :;:_Umw)-:’(;%fr 168
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CnHZn-l D CnH2n+2 ‘ C ) CnH2n ‘/ B CnHzn-—Z A
Alkenes are known by the name: ﬂ% PakCiW-OTQ%O ?ﬁ:.t'tgt:i.?:_(t‘_/ S /-{Fl 169 IF
Acetylenes o D Olefins 7Sy ¢ C Paraffins #1 z B Methane u:ﬁ A I
Benzene is formed by the polymerization of: ?é.glfét;dﬂﬁ-:_ﬁfi/f{(fg](u:djéﬂ 170
Butene uf;: D Ethene o2 ¢/ C Acetylene -,,:" E B Methane g,ﬂ A :
The final product of the oxidation of acetylene is: e S §ATE 4TS B 171 |
None of the above Glyoxal Glycol Oxalic acid I
A8 D Jd# ‘ I3k B e A
The catalyst used in the hydrogenation of ethene is: e by e b S SZ 179
Ag D Ni ¢/ C Mg B Cu A
Ripening of bananas produces gas: ?‘_gé‘_/@;uufdu/uu»&d’féég 173 |H
Nitrogen ch)’-;j-’t D Ethene qu,,f?"l v C Ethane u‘ffl B Methane u’ff A !
The reduction of alkyl halides takes place in the ?LJﬁutf.’ﬁrJJc;u:‘,)_',s,;-;pui@d_d}i’llﬁfbil 174 |
presence of: *
Cu / HCI D Mg / HCI C Na / HCI B Zn/HClv A “
A  hydrocarbon has molecular formula Loz ijﬁ_ e Gl s A0 kool 175 I
CgHq4,what is the molecular formula of the next " ) . - I
member of the same homologous series? et U 16N L
CoH12 D CoH2o C CoH1g ¢ B CoH1sg A -
0for-,-hala:)gfs:n.atlazzn’i of tetra halides is carried in the presence e PP 1 Iy s (o i 176
Zincdust =50 ¢ D Na C M%\ B K A _
Alkynes are called: @\ - e teYF 177 |
2 : AN\ O w ) 0
Acetylene ‘f,,f*-/“ ¢ D Paraffins i z C &;@}hene s B  Olefins #ds A
W_hich one of foll.owing hydrocarbon gas _rej%gt‘sgjffjfjjdtgﬁJ?kaiy@{,(fﬁggijéﬁfwuf 178 |
with acidic solution of KMnOsto neutralizg\i i I
pink colour? i’@p Yo
O
C3Hsg D w C C2Hs ¢/ B CHa4 A i
Dehydrohalogenation of vicinal-{dihalides takes . - s £ @ i
5 . (UL B S (S X e S 179 |
place in the presence of: ~R) Q“:'dfuﬂd/jy&'/fpk’ LURP N !
Alcoholic NaOH " \Aﬁueous KOH i Alcoholic KOH Aqueous NaOH i
&4 NaOH J £KOH LIKOH v/ 5 SfiNaOH
Ethyne is oxidized by KMnOs and ......... hydroxyl - (ISP b AT A L KMNn0a S U 180
groups add to triple bond: =u.?i-wfd‘;':uf’::jffui’l,
Five ég D Four v C Three o* B Two s A
The percentage quantity of acetylene in coal gas is: :,T_Jﬁflﬁ,»é(fﬁru‘:ufg)/ 181
0.0009 D 0.0008 C 0.007 B 0.0006 ¢ A :
The molecular formula of acetylene is: :g,uy;ls)ygl.{gﬁ%r 122 |
C2Hs D CoHz v/ C C2Ha4 B C2Hs A "
Carbohydrates are synthesizeq by plants through .» wlg Lumse sl S Ly Nt} Sk
photosynthesis process which requires the = e _
following except: Bt en 8 St oind LS
Chlorophyll Presence of sunlight Water and CO2
JSM}K g 0z - JJJZJ"JG:EJJJEJV B &gniCOz 4 a
Which of the following is a disaccharide? ?,T_i’uﬁji,’il/uf e Stiir 184
Starch .t D Sucrose s~ ¢/ E Fructose ;& B Glucose ;s¥ A
Photosynthesis process produces: -‘er,&g_,a,fﬁyu"pﬁ} 185 |-
Glucose /¥ v D Sucrose s~ # Cellulose J¥s B Starch &t A !
Which one of the following is tasteless? e bn e Ude tdioer 186
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Sucrose s~ D Fructose 57/ C Glucose J#+% B Starchgt ¢ A
When glucose and fructose combine, they produce: -(.;;.L'l'e.:-_.iéjf),«:u/f 187
None u.’f“ J/ e a D Sucrose s/~ ¢ % Cellulose s B Starch . A
Glucose is: -%5[% 188
Pentahydroxy Pentahydroxy Hexahydroxy Hexahydroxy
ketone D aldehyde s ketone B aldehyde A
o J‘i’,..ffcg% y4IE Py xf,T i\ o 2L u’('l'ui’l,ué i’wﬁyﬁui’yr}é
r;k;(i)l;g;laecgli;};fd?;IOW1ng is not a characteristic ?J@Jgﬂdﬂ"/{’#wﬂ}Lﬁ’u)}’/c-da.).'.iwﬂ 189
Redlicing in rja'Eure . Hydrolyzeable " Soluble in water JE;. . White ;:S!isg::lline )
gk bi R SHFx, W Sy Jiph f o
Ych one o e Jollowing SISO o pplerbiigsinbsLnb it 190
Disac€h?rides s Car'b?hydrates " Naturally occul:riilg . Soi:il:rin 2
bt N4 ATV 1 Lisi bl gt duw K i
Which one of the following is a reducing sugar? ?%jﬁigéid)fc.dij,pﬂ 191
Starch .t D Sucrose Js. C Maltose J#\ B Glucose /¥ ¢ A _
The most important oligosaccharide is: ..f_i’c‘lfy?,lrfu‘;_,_,f 192
Maltose J#l D Fructose J+// C Glucose ;¥ B Sucrose s~ ¢ A
General formula of carbohydrates is: O\ :ﬁ:_.uy*;lsdﬁt{u"fui’pw 193 |H
Ca(HO), D Cu(H,0), v G @1-?20),1 1 B Cua(H0), A |
Which simple sugar cannot be hydrolyzed? ﬁ\z\ f‘U:laJu"“u s ’l,a’:g./?’wbdd/ 194 |
Cellulose 44 D Starch g.t- &@/ Sucrose Jjs B Glucose v A
Lactose is a type of sugar; it consists of Suga?f(and .......... e I st i B S L5238 105
Galactose #% v D Star \&\*Oﬂ L Maltose J#\ B  Sucrose s~ A j
In which part of digestive syst@\gﬁcose is absorbed? Cebo oo £/ Lﬁ"’ st 1if ¥ 196
Large intestine . Small lfltestme C Linr . Stomach B
= Tx =T4sE v pe g
Z\lfc}lléil;degf the following 1is pentahydroxy e S ﬁuﬂ%w Je tdies 197]
Sucrose Js~ D Fructose ;& C Glucose J5¥ v B Starch & A
Which of the following is tri saccharide? ?,f_gu/(’&}w/;.ufdjj@ﬂ 198
Vitamins Lipids Proteins Carbohydrate
7 - %) . sy s kv B
Which of the following is pure cellulose? ?;%.;:Jktfjt&..{ldw/ 199
Wheat ¢4~ D Bread (s ¢/ C Rice Jsk B Maize & A
Which of the following is crystalline solid? e g F Il iz 200 |
Glycogen 243f D Cellulose Jvs C Starch gL B Glucose s¥ ¢ A _
ﬁgnmos: saccharides consists of carbon wgaﬂ&'“’{fi:wm{m%;y 201 |
Five to ten Three to nine Four to eight Two to four
el 2 Jeif b Ao o3 8
Which of the following does not contain starch? S sz Bl S e USioiir 202
Potatoes #7 D Barley 2 C Maize & B Sugarcane v/ A H
Pentahydroxy ketone is called: :‘;_wf B u’(‘l'u,;j'l,u.g, 203
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Fructose ;) v/ D Sucrose s+ - Starch gt B  Glucose #¥ A
Chemical formula of fructose is: o% pakt:lty org %c e Ur;b‘J ;{ 5T ) 204
CsHiz2 D C4H1o CeH1206 ¢/ B C12H22011 A
Which protects us from muscle cramping? ?‘:__L“/ =E . .:-__f-;f./ S e 205
Carbohydrates . Vitamins E Lipids . Proteins A .
JEIAAK s s 7y
Thousands of the amino acid polymerize to form: ?ugiu/ﬁf!/f;;gl;fuum/} 206 I
Vitamins 5 Lipids . Proteins . Carbohydrate " ]
Al %/ Ty W S XK .
Enzymes are proteins which have the following - b s i
1& 1> AoIL Z 401, . b 207 IO
properties except: 'wé & U . M‘C"g'{"'y?w/f o I
They catalyze
They are produced They are highly They are highly reaction
by living cells D e.fflcwnt £ HOH-.SpE(.?IfIC B z_/f’uwfffud;, A
ugjgé.ﬁljfai,}:’ sy olied .y Z_ﬁu.‘fu’pr";,: v
e
The organic compounds used as drug to control z—‘?édh&'*’%g@fiféﬂbé'ﬂé LLad bl 208 |
bleeding are: W i
Glycerides ¥ ﬁ? D Lipids J%' » Proteins /s, ¢/ B Vitamins ~t: A
Amino acids are linked to each other through: A n AL o Liitizu 209 |
Peptide link Gelatin link [onic link Hydrogen link i
b D , C B . A
Lt o Ju‘Jf JJ Ju’ug'b
. — \J } *» g b kb i
Gelatin protein is present in: @)\ = :ﬁ_d@dggﬁjéfﬁ 210 IF
Bones Jsusk ¢ D Heart JsJ> C Qgiﬁgﬁin U Mo B Blood Jty7 A i
Polymers of amino acids are: \ip&//’ s 2 ikaEu 211 [
Lipids Vitamins ,__{@ s~ Proteins Carbohydrates :
D o\a = Ll : B .
.}fgj /LJQ\\O S Pooddl (4 ﬁJ,&/HJK i
Proteins are ......... by weight of ce\li\&f e battia 20 s o uA ... LAkunZlE 212 |
0.5 v D \ 0.65 C 0.35 B 0.4 A :
The body reactions are catalyzed by: S S Lid w213
Fatty acids . Enzymes I Lipids . Amino acids !
A A J% AN
Which one of the following is a triglyceride? ?f_i’»"!/fél}vdf:_.ajj,_np 214 |
Vitamins " Lipids - Proteins 5 Carbohydrate I
AUs ix */'f:{ S J‘J K
Lipids are macromolecules. They have 2o Wity LS e s puir q it 7 E £ 215 |
characteristics except one of the following: Ny I
They are high
They are esters of They are poor They are soluble in energy food
fatty ac1dsb | D conductor of heat wate{‘ B | 40, B e A
SN 5L 5E S K19 L il 703 LtV
: Y
The chemical formula of citric acid is: e Ur B LSS 216
C1sH31COOH D C17H37COOH C C17H33COOH B Ci7H3sCOOH v A :
Building blocks of lipids are: W S EAL N 217
Mono saccharides " Fatty acids ’ Amino acids " Nucleic acids " !
S Iy a5 FREAY J T 7
The formula of palmitic acid is: :eumw’,@,ru@g 218
C17H36COOH D C15H32COOH C C17H35COOH B CisH31COOH ¢ A
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Catalyst used in the hydrogenation of vegetable oil is:

a.t‘fJWlJm#u’u":fuﬁlzJJfTﬂs

Pb D Ni ¢ C » B Al

Which scientist discovered the structure of DNA? =it A #§DNA

Robert Hook Watson and Crick John Dalton Hopkins
bl - S : gﬂlﬁutg a1l &
Which one of the following vitamins is water soluble? ?9rﬁﬁruﬁgvd/¢;ut°/"hjj_;;p

Vitamin E Vitamin D Vitamin C Vitamin A
g E . D s JCvV . g A &
Which one of the following is a fat-soluble vitamin? ?,h;.ﬂrhz;u’hw)fc,dijg;p
All of these el ¢/ D K C E B A A
Night blindness is because of deficiency of: ?9Jﬁd;@ JJ%L&&’L‘L.;:JJ/JJL";J
Vitamin D Vitamin C Vitamin E Vitamin A

J D . s C s 't B 5 J AV A
Deficiency of vitamin E causes: ?,f_éﬂd;@ff;_gst/JEcj’h

Night blindness Anemia in babies Scurvy Rickets
JHE e D Lot S V - S ST 7 S
Vitamins B complex contains: :ujz_ﬁJLiufu‘f’;/Bu”E:

12 vitamins 6 vitamins 8 vitamins 10 vitamins
12 ~¢s D 6 L s 8 s 5 10 #ts v/ -
Deficiency of vitamin D causes: o C\ :%GJ’E::-—U{JDJL”:
Night blindness . Anemia 4 $,% . Rickets "
SR bt L \\&”/ S Sl r v

Who proposed the name of vitamin? (é\ ?_L_J’;gf.i_f(tw’b

Lewis « D
r\\\'\
Rickets disease is caused by the def1c1ex-- L@\@f

Vitamin C
C b H
Who invented vitamin B1 (Thiamin)?
Davy §43 D ] Watson u’ 1z

Bothaandb Rickets
SIS D ShedL s
Fat soluble vitamin is:
All (2 vV D K
Hopkins noticed for the first time:
Vitamins Lipids
Al . I

About 99% atmosphere’s mass lies within:

11 km 11 2 D 15 km 15 &+

How many percentages of sunlight is absorbed

by atmospheric gases?

0.03 D 0.24

The two major components of atmosphere are:

Oxygen and water Nitrogen and

oxygen

D

F Crick /-l j%

is caused by the deficiency of vitamin A:

Watson u” I3 B Funk _C ¢/ A
o dneond St Sl r

Vitamin A Vitamin D
. A s . D't ¢ .
S i (39 Bl ts
C Funk & ¢ B  Hopkins A, A
e dne 28 JAS
C Sare eyef B bliﬁfggss A
WJ?JU}@(' wau o
e e
C E B A A
AN S
E Pro‘tbeins . Carbcihfzdrates B
Ay Sk 8K

Cesiv Ui 4499 L T A
C 35 km 35 &5 B30km30 ¥£f¢v A

C 0.18 ¢/ B 0.12 A
:ujf?lﬁiué#ﬁi
Nitrogen and Hydrogen and
C B A
hydrogen oxygen

228 |
229 |t
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PN T, SN, Tl st
Nitrogen and oxygen are ...% of atmosphere: D%pakmty org %o Qu?,-ﬁ?xﬂ’ég/-y;‘"!f/u;lu}; 236
0.75 D 0.99 ¢ C 0.9 B 0.8 A
The volume of CO2 in dry air by ratio is: :évﬂqtl‘u:lﬁ.éiﬁguﬁd’ljwﬁ(fi;& 237
0.7809 D 0.2094 C 0.0093 B 0.0003 ¢ A _
Depending_upm | emperatire vaalon, 7 s Sl |
Four /¢ ¢/ D Three C Two » B One A
Just above the earth’s surface is: ?%»_/"-}’quf,;;lﬂl,aii/;fuf; 239
Troposphere Thermosphere Stratosphere Mesosphere —
Fpiv D Fri S P A B
jtmggssﬁerggszgasses that maintains temperature of ol s S0 0 F o £ S 240
Carbon dioxide
Nitrogen and Oxygen and water Nitrogen and and water
oxygen D vapours C carbon dioxide B VA PUULS A
ST AP iz LYy T Akt s LT
=5
The earth’s atmosphere is getting hotter because of: ?%9”"'!’; 2 re oSO IR 24
[Increasing Increasing I
Increasipg Increasing concentration of concentration
concen; Satlon af D concentration of O3 B ’Of 90 A
i_u-u:f-;“ $50; Lzt 7 0, $ u:‘ﬁ?./qco
P
On which bases atmosphere is divided into fOL{Q]{: gis ?ﬁ;_f_l{f(;ju:ﬁwgé;g/fﬁbﬁr 242
comgemveathr (WG e men
CE AT S & w v S A b S e :
Height of stratosphere from ear&ﬁhs surface is: :‘f__,;_.dxl,;_ﬁjifﬁ.i’kﬁ 243 |t
60 km D 50 km v/ C 40 km B 30 km A :
Thermosphere layer is at height above earth'’s surface is: :.T_J;L‘:_.i/Jw;Jﬁﬁa’r} 244
85-120km ¢/ D 50-85 km C 12-50 km B 0-12km A :
The major constituents of troposphere are nitrogen and: ¢ (AP AP FeAZIEBL 247 245
Sulphur Oxygen Carbon dioxide Hydrogen :
b D U T . 2T OBk - oy #
At the height 85-120 km from earth’s surface is: ?{_t'mﬁrgf}f;flz(];%;.gd/w; 246
Thermosphere Stratosphere Mesosphere Troposphere :
wepv P iy - e A <
The layer of atmosphere which is next to . . SR B
troposphere and extends up to 50 km is called: :‘?'L}M}JA‘EA’KSO{”[LK{” 247 I
Suatosphere 22 THIIOTHEIE ¢ rosphere 2t B e
Which one of the following is not a green house effect? ?,f_u:f_ug?,iu’;g@ft,ifc,utj"jgmf 248
[ncreasing sea-level Increaging tpad lncreasi}'lg hanel ;?r;r(fs;}ilrge
Sl & D . rlSk? C ‘ .chalns* B temperature A
Sl e B Ll Sl it of it / S
Which one of the following is not an air pollutant? ?+uf¢§é,&ﬁva;uﬂJ“59Jp 249
Ozone D  Nitrogen dioxide @ C Carbon monoxide B Carbon dioxide A

Please visit for more data at: www.pakcity.org
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sl IR £ ST Il LI ek

Which one of these pollutants are not found in . & & )
Q""‘ ¢ e - b . b v " . * i
car exhaust fumes? 'LL?E&.JU’/JM’/QG/JKH;’):VU:(LJJJ,;;M

SO2 D NO2 C O3 ¢ B CO A

Waste material that pollutes air, water and soil is termed as: :.»;-_L"ﬁ:ﬁ/d".m&Ecmﬁa_;t.ub’t.{!

Solution & D Solvent <xd» C Pollutantext ¢ B Pollution v+ A

A primary pollutant is: e e k(S AL
H2S04 D H2CO3 C HNO3 B CHi ¢/ A

Carbon monoxide is harmful to us because: F ol S NI I K

Reduces oxygen

: bl Paralysis
Makes the blood Carrying ablll_ty of Damages lungs lungs ¢/
coagulate D hemoglobin C tissue . \ A
g - ) J LJ’TZJ K ) r d.;/’/éyh")/u:*.,-",:
?—-‘}L"C—/bc{ }Ja':u_?,: e " TP cﬁ-djﬁ?ﬁ/iﬂé:u;*g"f
Every year there is a rise of .....in atmospheric - kP g g § ot AT 35 o U 1
temperature due to carbon dioxide in air: -f‘—lrm;u'ufﬁ-/fu(ﬁ“:‘:'
0.01°C D 0.02°C v/ C 0.05°C B 2°C A
A secondary pollutant is: 1L Y SI R s
HCI D CH4 C COz; v B SO2 A
Normally rain water is weakly acidic because of: ?c.t‘!fd/i-jl ﬁfa,g:d/wfdu/&g{f;g@ﬁ(u
NO2 D SO; v C CQ@;?;; B SO3 A
Buildings are being damaged by acid rain d/f-’;-U‘é}’“MCJLWUW’@”M‘:ﬂ”JJﬂ“
because it attacks: A{\\‘A vl Sl
Calcium oxalate Calcium carbonate \(S)alcmm nitrate Calcium sulphate

©
@L—J"('? D .__.f;’;K(’V F%}/t/ ;.-'L,(’L.i B w({; A

Acid rain affects the aquatic life by \g]@gg\iﬁ/g fish O30 SaidT LS ud BL s Jevoions Joeg i

gills because of:

e
Aluminum metal " M@cury metal Chromium metal Lead metal
N S 7 ) (Fag ° ¥ !
[ron and steel structures are damaged by: ?;.3%@:..‘;( =34 Jf’ AT
Carbon dioxide Carbon monoxide Sulphur oxide Methane

—— D O L . o S B -y A

T8 WS BT - o P
The pH of normal rain water is: :q_JﬁpHJJgLJA,J;b
5.6-6 v/ D 6-6.5 L 5.4-6 B 5.5-6 A
The pH of acid rain is: e pHE 4
7 D 6-6.5 C 5 B 4 ¢ A
Which one of the metal clogs gills of the fish? ?%&;/Aﬁg&ux}fﬂﬁupg};wgﬁ/
Lead & D Aluminium &4 ¢ C Copper ¢ B [ron g7 A
Ozone is beneficial for us as it: -;%.Jfffm(;;_@"é;;husjgl

Absorbs air Absorbs Absorbs ultraviolet Absorb infrared
pollutants D chlorofluorocarbon radiations B radiations A
_,jg/uf’fﬁ.;im S e d 7S e PGk 1 P e d NS P

Infrared radiations emitted by the earth are . e & a3 ‘ '
———" by ?(_ﬂdﬂy@Ju’/ﬂld,gjaﬂﬁldl:;ﬁ@)b&uf;
COz2 and 02 D N2 and CO2 C 02 and N2 B COz;and H0 v A
Global warming causes rising of the sea level. The O'U[*’J-'C‘J"J’K-”‘—"'-”JL"U’i/d/ﬂ’*’ﬂ-v@”d’{
cause of global warming is: e ot

250 |

252 |F

253 |
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255 |t
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O3 D NOsg C SO> B CO2 v A

Which gas protects the earth’s surface from
ultraviolet radiations?

O3 D N> C CO B CO2 ¢ A
Effects of ozone depletion are following except the one: ?ﬁ;_u:s’éf_ L,.?lsiu,;,r,.;,(ff;.ﬁ@jg;p

, ; : Increases
Can cause climatic Can cause skin Increases crops . :
. infectious
changes D cancer C production B qi A
AR » o K/J/uﬁ A iseases
s B0 &7 el ses ] Lrosl & Il e ol O U S Ut A
Cause of global warming is: :;_.;-:Jﬂ;udi:g
02 Gas Jf D NO2 Gas Jf C SOz Gas Jf B CO: Gas th/ A
In which region ozone formed? ?é_{?uf:u?u‘_/uml
Thermosphere . Mesosphere . Stratosphere . Troposphere i
Vg R S s

Sea surface is protected from ultraviolet | . .. . ., . | | N )
radiations in global warming by: . ¥ e PrShaeh ’J'/J'!'/iKJJM:--C‘JI:J:K

O3 Gas Jf D NO2 Gas Jf » SO, Gas va’ B CO2 Gas J; A
The formula of ozone is: P O
CO D 0 C O3 v B 02 A
Which one of the reasons of global warming? ?‘L,;su’ufa_uidj,;,wd/juuj;g
Absorption of Absorption of Absorption of Emission of
infrared radiation ultraviolet infrared radghtlons ultraviolet
emitted by the radiations coming comm {(ﬁﬁ he radiations by
earth D from the sun B the earth A
§.F
dijﬁEJGLgb('nj IR STl UV $hu %%i\;\l@;r IR /’)IL,‘;AJ ::..i/d/uf; uv
(vt io€ PRI hs W bndeb QUL \_,/ b ek TN 5 ANY
(OAN = > .
Which gas is called greenhouse gas? | {5}@“} ?,T_OMJ{JEIM/J{JCM
HCI D 1,\@&0‘“ C CO B CO:v A

Which one of the following prqgei‘hes of water is wu(cﬁfzslLdLu‘quff;.u‘_,u#’Jm;MJdL
responsible for rising of watet in plants?

Sl
Capillary action . EXCElLeCIE—'OSI?lvent I Surface tension " Sp::;f;((::il;;at 2
Sk v u""‘gl..:..-:;.)y*c{ﬁ’f SN &*"‘?'/ﬁfﬁtfu

Specific heat capacity of water is: ?%GU[LU:JEQJA?M/MJ!J;JJ&
2.4]g 1K1 D 4.2K]g1K-1 C 4.2]g 1K1 ¢ B 4.2KJ-1K-1 A

The oceans contain about of total world’s water: ?.;_ﬁ,;&&dmf,ﬁﬁ&ﬂ/{&léféy;
0.97 ¢ D 0.95 C 0.93 B 0.91 A

The boiling point of water is: :.ff,..::ilgﬂ’lx(&&
100°C ¢ D 800C C 2500 B 00C A
Density of water is maximum at: ?ﬁ;,&:q;;k}a.,x&“siﬂ&g{,/gﬁw(
60C D 40C ¢/ C 20C B 00C A

The density of water at 40C is: :9[;,?&%;‘!&&44%
4 gcm4 D 3 gcm-3 C 2 gcm-3 B 1gcem3 ¢ A

The freezing point of water at sea level is: :.:;.t‘ﬁ.."..-f:l;;j::) K&Mfdﬁw
30C D 20C L 10C B 00C ¢/ A

How much percentage of water is drinkable out of all the g :
S SEL S 22 POy £ )
water present on Earth? e 6Lz 2B 2y 4ot

0.9 D 0.002 ¢ # 0.021 B 0.00001 A
O.LL.CC/fL;JJ(fJingfTuLdE

Water dissolves non-ionic compound by:

T § JJ;:afL'/'?ldifdzﬂﬁ'ﬁ'/iftfdbﬂﬁvf 266 E
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Hydrogen bonding Dipole-dipole forces [on-dipole forces lon-ion forces
Sngiv D padidideds Y s B ugrsr B
[onic compounds are soluble in water due to: ?ujﬁrd&gaejujjiigj:T
Dé?;(ljg?oci}ézid 5 Dip()le.-di?ole f?rces E Ion-d%polfe foz‘ces . Hb}i;irgiiegn =
/'m; dzj Jlj,tw,_-g,%r- Je’, Jf; y;idgdﬁ-d;dﬁ }m’da’,dlj-cf’i' ,L’-’jcg Pl o
The HOH bond angle in water is: :;‘;.t*ﬁﬁljchOHung
104.8 D 104.7 C 104.6 B 104.5 v A
Temporary hardness is because of: ?‘:;_,Jﬁ;,?;d/ufu’fbw{;f
MgS04 D MgCOs3 C CaCOs B Ca(HCO3): v A
Temporary hardness is removed by adding: ?ﬁ;_t'tggfj /Jlijfou//quw{/;‘b
Lime water Limestone Slaked lime Quick lime
dLeez D Y AP & (21%lE W . (2
Permanent hardness is removed by adding: ??r@gf’};.tjwnuffu’fmqu{_
Quick lime Lime water Soda lime Sodium zeolite
F4"30] . &g K% E ( Ulss - V LAYy -

Which one of the following salts makes the water
permanently hard?

CaSO4 v/ D Na(HCO3)2 C NaHCO3 B Na2C0s3 A

Which one of the following ions does not cause g .ab - /e i
. ? -. ““ "J:- J'I. 5 l - H_' I . *
hardness in water? B s UR A TUS e e F T 5 sne

Nat D Fez+ C Mg2+ v B Al3+ A
The removal of Mg*2and Ca*?ions which are “‘ 2 - -
responsible for the hardness of water is called: 1@'7%’ [ Car2is Mg 2L iré o KU 54 1

?;:;.t‘t;jfk..i;f'l.{:;'/flj JVU[&-JJ“L;J#

Hydro§en bc:nding . Water softening vﬁ\f Th:;gzzgy . P}f;?dizzzt "
L Pk iy 2y . } s ity
e ot el OB 0 e o prodd LIPS
Filtratjon&mfethod . i@d@ﬁi’n\\wzeolite . Wajé?foffda 5 il:tlilk(;?j &
BLRP ot b 3 Helhr S HESIEV
The chemical used in Clark’s method is: :;.Jé‘fwsi,ﬁdlﬁ’iaﬂ:)ébﬁﬁ

Ca(OH); ¢ D Zeolite Naz @ Ca-Zeolite B Ca(HCO3), A
The types of water hardness are: :u;:Jﬁ(LEIJ JE MJ dg
Five ég D Four / C Three o B Two » ¢ A
Permanent hardness is because of: ?%.Jﬂ:..,.?uf/ U ey
CaCl; v/ D NaCl C Mg(HCO3): B Ca(HCO3), A
Temporary hardness of water is removed by adding: ?+ﬁﬁ@gj,;£/JﬁfJf%JLﬁ;u£&g
CaS04 D Ca(OH): v C KOH B NaOH A
z‘gg;gg:rary hardness of water can be removed by :.;:_G"/‘LPJF';L&./JL’: ......... U’Ejilzdf./'jd/&&,
Washing soda Quick lime Slaked lime Lime stone
S B o s . Fuike o Y™ T
Rapid growth of algae in water bodies is because ﬁgﬁjd/tf’u:&.‘;&e’ SEszr§ e uf Ut =2 23
of detergent having: gﬁ;gﬁ
Phosphate salts Sulphate salts Sulphuric acid salts Carbonate salts
Sleid b v . o ‘ s S . ik A

Depletion of Oz from water is not because of:

Se 2§ L 02 QS Lud Ut 5 000
Decompositionof D  Rapid growthof @ C Biodegradationof B  Decayingof A
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I. .I
aquatic plants aquatic plants aquatic plants aquatic plants
;.c}?}x,rdjgfu,u{fuj;’:l Lﬁ}jﬁg{usjgu;:git/ LL{;&’XJU}}{J{J-{I L}’éﬁu”{fuj:{l
—

The chemicals used to kill or control pests are :’-ﬁz—ufgm’&’f*ﬁ)—“i—ﬁdw'% L AU 299

called pesticides. They are: Al e s
Beneficial organic Beneficial inorganic Dangerous organic D?I?f:r;;i
chemicals D chemicals e chemicals B 5 A
}ﬁ‘fﬂf ; /K/ﬂf " /K‘J/_,Cff /L - chemicals
el el Sl KT
Which of the following is an agricultural influent? ?%Mﬁ.fdz@ﬁﬁvu}fd_a(’tj@ﬂ 300
Fertilizers 3 Detergents - Mineral acids . Heavy metals "
PV T st 2 M8
The rain water is slightly acidic it is because: :,;:Jwﬁgbﬁ_fpﬂldr”‘&gb’ﬂ 301
NO2 D SO2 # CO2v B SO3 A
The industrial effluents, when taken by men, are é””@WJ"EU’K;LEL/JL’;“'Uu’d.&gujf-s'tf.f’?'-ﬂ? 302
responsible for disease: ¢
Cholera .2z ¢/ D Pleague st [ Asthma .-» B  Cancer ¥ A
Which one of the following diseases causes liver . . -
¢ “ J s e 1 X'y s 303
inflammation? Ui yJ/'Gd i etz
Hepatitis f/w% vV D Cholera =z C Jaundice @6 4 B Typhoid X6t A

Which one of the following diseases causes A o
: RS vl a5 BRI A 2 Yisaur 304
severe diarrhea and can be fatal? wuc” Mdﬂ“{kﬂ NI R0 RV
f‘}

Typhoid ¥t D Cholera .=z ¢/ C Qgﬂfery L7153 B Jaundice ¢, A

k\

Which one of the following gaseis used to i . Pl . ,
destroy harmful bacteria in water? @ﬁ\édw/&wu{ SILLL S, Pl Ewoldsny il 305
&\?

Bromine c;,uﬁ D Fluorine ¢%s.. %} C Chlorine qjﬂg v B lodine ¢3¥T A

) ) ) s e ] ) e s ) i e e e Il ) e e ) T e e 1 ) T [ i [ | ) [l el ) ) ) ) s e Pl ) i P LI i) s s it ) 1O e i S el B ] el s ) [ e T () s P e P ) ) | s T s o ) s e e s () e ) sl T ) Y s P T ) s e il e T ) P e e U [ s e ) s o i ) P = T i . ) T s Pl i = o [ ) S | ) ) = S e = B

= = e e B e e B e e e B e e e e e e B e | B e e e M S e B e T I e B e S e S e T e s e e B B E i e T B e B N i R S R e B e (R E e B e e S S e P S A L e e ES e B S B i B B T B Pl = s 2 T B e P i s e I e e e C P e S E s B I e e L i e e s EE i S e e e e ==

A disease that causes bone and tooth {iﬂ@%{& is: ?;..d.ft;:u’uf os§n IFLUFsIULE 306
Jaundice @t~ D Fluor{m:& st/ C Hepatitis uf’feg B Cholera .=z A
Vibrios cholera bacteria cauSei\h\e disease: ?%r&{dgtgdufg/;&){gﬁr; 307
Hepatitis o~ bl D Typhoid 6de C  Dysentery ¢ 405 B Choleral kv A
The cause of cholera is: :‘;;_,?:LW( 308
Fungi 3¢ D Bacteria | 2% ¢/ C Virus ( 71s B Protozoalss, A
Swimming pools are cleaned by a process called: ?aﬁ;,t*ng.Jua.Jf;{,uffdgﬁr 309
Chlorination Nitration Hydrogenation Bromination
Fokv P K N T -
Cholera is caused by: :¢,;>:J.:e;: 310
Protozoa f:j;:,; D Fungi db’ C Bacteria | /,'..C v B Virus g s
Concentration is a: _Lu‘/// 311
Cooling teihnique 5 Boiling teg{mique " iigﬁ;?;?eg 5 tel::/[li}r{llirthie g
F LS ) i S
Froth flotation process is used to concentrate the ore on: a@pakcnty OI‘Q%D *‘(;.L"w’mvfu":bﬁl/ 312
Magnetic basis Wetting basis Concentration basis Density basis
P EE ’ Pl fs v C J::Jk*tfﬁ/"f ; PR .
Matte is a mixture of: _..»;_.gf*; 313
FeO and CuS D FeS and Cu2S C FeO and Cuz0 B CuOandFeS A
In the bessemerization process: :ufu”;{,c/i:fl/:":- 314
HhH—mM MMM MM m M - e e e e e e e e e e e e e

Please visit for more data at: www.pakcity.org
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Molten matte is Molten matte is Molten matte is Roasted ore is
added D heated C removed B heated A

e bl Phass bt S err v c b E b ey e bl S sl 2,
Concentration of the copper ore is carried out by: HLL.J;)’(O?‘/L’./D/JJ};{‘{

Distillation Froth flotation Roasting Calcinations

) 4 SRR 2 s, . ol &
Chalco-pyrite is an ore of: ?‘;;JJIJJ(.:A/;&:%
Aluminium &4 D [ron us7 C Silver . B Coppersv A
The chemical formula of chalco-pyrite is: :.:-_Umtséyfmd/fgﬂlg
FeS D CuS C CuFezS ¢ B CuzS | A
Z;]ltleelét:lderground and other impurities present in minerals are i il s A
Compounds jxi/ D Gang & v/ C Ores Jsl B Metallurgy S+~ A
......... is called the king of chemicals: PR AR -
H3PO4 D H2S0s ¢ C HNO3 B HCI A
The Srown colour of th Dl s QU 10 56 e YL i

Mercury §./ / D Molybdenum ﬁ,g}r C Copper (¢ ¢/ B Titanium A5t A
When CO; is passed through the ammonical brine < o = U:Ja;@ﬂ;{—f'ﬁ?’f'f/COZLJ'fﬁ Koo

the only salt that precipitates are: S (s K2l
(NH4)2CO3 D Na2COs3 C NH4HC9\3\ B NaHCO3; ¢ A
In Solvay’s process slaked lime is used to: %qg“ A0 I.J_u/ﬁ 2% n: VAV
Form NazCO3 Recover ammonia l?\»[gg re quick lime Prepare CO2
NazC03 & L . 2L TSy ny SRy 8 co; J LSk =
When NaHCOs is heated it forms: w%éfj/ _ﬁ:_t-tgcf.fig.m?g(ffNaHCOLﬁ
Ca0 D CaCO3 < o‘)” C Ca(OH): B COz v A
Ammonia is prepared by the process\tail ?i.-_t*l?gjgr_w"‘:,;ufgrn
Hyber’s process " Floa@ process : Hibr’s process . Solvay's process A
ul"‘s,gj/.:‘fl, J"'uu")’ OLEYY e v

Formula of urea is: ?%L«u;f sG] 2o
NH2CONH: D NH2CONH4 C NH2COONH: B NH:2COONHs A
z;:tﬁét;zfn present in urea is used by plants to ?u.?L/dt’f‘“lui'df_?d/u/u}'ﬁ/"fbﬁfqu’f—-:{
DNA D Fats o~ C Proteins 7 B Sugar /¥ A
The quantity of nitrogen in urea is: :‘:;_@mlﬁd/u’-;}’tutg;g
0.466 D 0.566 C 0.666 B 0.766 A
The preparation of urea consists of ......... stages: :%J;«:vub{,d"l/ ......... d;gd/g;g
Five ég D Four J C Three ¢ B Two » A
In Haber's process, the catalyst used is: :cg.t‘ﬁdb-}l&)hfuidjé.{l,
Sodium (%55 D Cadmium =4~ & Platinum (f ik B Nickel J# A
The number of units in Pakistan for the preparation of urea are: :ugu:’gii_/;gg;gufgt'«@.
Ten v D Six 7 C Five &/ B Fourk A
The gas prepared by haber process is: :;_ﬂdui_,mg‘:_ugfuﬁ’b;,:l,
NH3 D HI C SO2 B CO2 A

Crude oil is heated in the furnace up to: ?‘E,t-tgg(f.l?@/;‘a/uﬁuj/‘f‘fﬁs
4500C D 4000C C 3500C B 3000C A
Which one of the following is used as jet fuel? ?‘LJﬁJWldﬁ_:g;#f*:)o’u/;uij,?}p
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Diesel oil Fuel oil Lubricating oil Kerosene oil
Sz D FTU3 N - S  EL N  R
Which one of the following is not fraction of crude oil? ?tLu{j{/'JJUg;;;w)fa,de,;;p
Petroleum coke Fuel oil Asphalt Paraffin wax
S s L JTUs : 2o B Jrshia &
Which one of the following is not a fraction of petroleum? ?‘ﬁa.djdé{}d/f-{)ﬁ.&[u:d},gjﬂ
Petrol Alcohol Diesel oil Kerosene oil
Ji V Sl : STz ¥ e |®
\f/{\)/ll;:](:clhi?lngea;)éﬁl;l;?followmg organic compounds is ?‘:_t.%ww{,fjgggﬂTufau:J@p
C12H26 D CsHi1s C CsHg B C2Ha4 A
compastion C1 - Cosealieds T e DA S
Kerosene oil Gasoline or petrol Petroleum ether Petroleum gas
T T ik Bl A B
e 00 Cs-Cre sl RS P o
Kerosene oil Gasoline or petrol Petroleum ether Petroleum gas
ST 4 D Js s ‘ A s . Sk A
How many carbons atoms are there in gasoline? ?bgi.ﬂ)‘%.lyizggu:dﬁf
Fifteen to eighteen Thirteen to fifteen Seven to ten Five to seven
0Bl 0k D 0IRGED f “ J:c:_..:..l: g .:.fl/c:..ék -
The molecular composition of kerosene oil is: P ”%\i%\ :;.?.d%});r/}:gl:d/ STt 1
Cig - Cisg D Cig- Ga2 C ; (@D 10 B Cs - Lo A
The carbon composition of diesel oil is: f::gg\iﬁ\“ :{_cf"‘l},;_f@,;KJJTJ;;j
C1s - C1s D C13 - C15 g@\ C10 - C12 B C7 - C1o A
g(;tirso(l:eall.lltéld:fractlon whose comp051t10nﬂ 15\55@%@@/ :.g_JLk'@r C7 Csﬁj{J&dﬁg}%%
Kerosene oil Gasoline .q@ﬁé%f‘()l Petroleum ether Petroleum gas
- D N\ 7 C 4 B 7 A
STl “«\L@@J s Sl
{

Which fraction of petroleum used as fuel in mdv‘*:JﬁMﬁug/ﬁﬁcm!w;@dﬁf‘f}o’u/J(-J-;ﬁ,

ships and industries? ¢
‘

Fuel oil J7J» D Diesel oil 7z C PetrolJ:;4 B Petroleum gas Jf(i:/”:. A

Which of the following fraction is used as sl (& s & &
laboratory solvent? ’ ?%dﬁdw'%!’!’dﬂ%ﬁd’g/ Sl e il

Fuel oil Petroleum ether Diesel oil Kerosene oil
S1us P ads © S B Sy A
The molecular composition of gasoline is: :ﬁ-_ﬁj,{){?dﬁﬁf
Cas - Ci5 D C10 - C12 C C7-Cio B Cs - Cr A
The molecular composition of fuel oil is: :;.ﬁ}yf/{?LJJKU;E
Ci15 - Ci1s D Crz~ Casg C Cag = G2 B Cz-C1p A
The boiling range of gasoline or petrol is: :.f.;;_@u_ﬁ"ugdﬂ),ﬁ,gdﬁf
350 to 400°C D 250 to 350°C C 170 to 2500°C B 80tol170°C A
The boiling range of petroleum ether is: :ﬁ:_éuﬂ"uj‘f/ézjﬁ,/a
80 -1700°C D 20 -1700°C C 30 - 80°C B 170-2500C A

Class: 10t Chemistry %pakcityorg%
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If you prepare these Short and long Questions then Insha Allah Confirm your A+ marks ||

_(,{!; /.'2 +A L?Tﬁlrﬁliwiﬁg @Ulf&fﬂ sl Uy /‘? ,,77/(’

SECTION-I Jy ~aa
Question No. 2 2 sl J) g
1 Define chemical equilibrium state. ..L,gj/ u,lf.:)tpuf d /;’d;‘:lﬁ‘i/ 1
2 Give the characteristics of reversible reaction. _q/ ug.:.,g:a# S ‘j‘g SaJ= 18, 2
3 How is dynamic equilibrium established? ?;:'_.l?'}’f(;; B‘d: EASEILES 3
4  Why at equilibrium state reaction does not stop? AP B=1 !d;ui';-ﬂtad/é /,Ju‘,fl 4
. :Vv:;]? is equilibrium state attainable from either e L‘ftg T e B b u’(é Y Inn:
6 What is thl? difference between reactants and e ?%J/. S uj@%m Jg,,(' 0 | B

products? Give example.

Write any two macroscopic characteristics of - . 5 -
7 o b T b -
forward reactions. 1 f ehes” J.:/’C RN A

g \S/g;:! two possibilities of chemical equilibrium ) uf’g Eisoss bl Jﬁ or, L5 8

How can you know that a reaction has achieved " ) )
b an equilibrium state? ?‘J—.L.J/ S L"é/gd’{’c’-cf'g 151 6’2;_’_1,;,4// ol | 9

Describe any two macroscopic characteristics of : 1 _
10 dynamic equilibrium. _L{;QEJI?{;:/?;JU’G(Jﬂ/dyg..fbb 10

11 How _atmospherlc gases are used to prepare sutbndind Lo bl I e A7 11

chemicals? fo\
12 What is meant by limit of a reaction? < el /{;..»J J"": 8, 12
What kind of reaction does not reach </ s 3 P & ’
Ol o v [ e
L8 completion? ®\ .Lg:‘.’u”fr'wlu”'/ld%f’f 13 _
14 What is meant by active mass? Write its uni \/ LS =k 14 |
7 ¥ i
15 Define law of mass action. \ u> -Q/_.y /’JJ‘QJL..STPU 15
Derive equilibrium constant fége%smn for the ¢ LK ISk LS e Pasdtl sl for Kl I
16 synthesis of ammonia <@§ nitrogen and = o T 16 |/
hydrogen? 3 J“’J oAk !
~ rrp— : I
17 How direction of a reaction can be predicted? ?q_(}ﬁ L?J ajd/ Flerd J"f ¢ 17 |-
13 What are the characteristics of a reaction that ¥</edfJGAs 2y vheters ﬂ'dié' 18
establishes equilibrium state at once? Ce bl B i

Predict the extent of the reaction when the

19 . : ﬁééfﬂJﬂJﬁldJLijgk}dJﬁé){JKC 19

numerical value of Kc is small.

What is meant by the term catenation? Give an U/ Lisd Joplr6r* &5‘3/ ?LJ’/V(L'O’: «.5“(' L3

al example of a compound that displays catenation. _J;J’ Jed% ibf.fl -0
What are heterocyclic compounds? Give two 2 ™ i

21 examples. -u"/.;,/u‘fvuwg@“g.@;’wﬂ 21

29 What is the difference between n-propyl and <’# Jﬁ:f”?é-ﬁ/i gufd'&.f’{.!j?ﬂ’tf&%tﬂt oy
isopropyl? Explain with structure. YT Py

23 Write down the dot and cross formulae of U Y }Umb‘w o u*f s cf";:/ 23

propane and n-butane.

Define structural formula. Draw the structural (tf T J w7 S 7 I Sy L)/ o~

= formulae of n-butane and isobutane. J-J U / b i

25 What is condensed formula? Give example. et YU i i 25
26 Define closed chain compounds. And also give an el /3 Gisl 258 26
example. v ® [
27 What is meant by homo cyclic compounds? Sl pif e ki f A 27 |
e =5
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30

31

32

33

Wrote down the two conditions for catenation. a@ pakcity.org %0 Il Al Lo 5

Write any two general characteristics of organic

compounds.
What is meant by vital force theory?

What is meant by aeromatic compounds? Give an
example.

What is the difference between aeromatic and
alicyclic compounds?

Describe the modern definition of organic
chemistry.

Write down the four types of formulas of organic

U embor® J 2005 O Sos ST
st p e §osB Uid S Iy
s Li%e sl pYU e S LA ins g

S G\ L BAS ol o 4

S e P i S d/‘u"( ~—6:ff7

32

33

36 |
37 |
38 |

47 |
48 |

58 |

34 ompounds. P e Sy L AL T
35 Define isomers. Write the isomers of pentane. _u.f’g.?/ﬁfédf’%ﬂ_u“/_@}'gﬁ/ﬁf 35
36 How is coal formed? ?;.;_-_C%d:ff
37 What is the importance of natural gas? _L,gj/ ug:,g:lJ Jf 3;,5
38 Write classification of coal. _L{/ iF Jﬁ'? KX
39 ;{nf:)lx;\il?a sniffing dog can recognize the person’s ?;ﬂug&)a”ﬁ&uﬁ&ufﬁfunfr 29
40 Define anthracite. Write its one use. _u:"’g Je1 L] Ku’ml-qj/ -/ /7 J.._g L /5'"-1 40
41 Coal tar is a compound. Write its importance. e e $U-e ks Ll 41
42 Differentiate between coal tar and coke. SIS AT k) 42
43 What is coal gas? Write its use. rr] _Q/ ugd%uKJI?é_gu—f JI 43
44 What is destructive distillation? \f\f 3‘ *‘ab@?"’/ ”}( 5
AN
O\“\</\JWI £ W &SP )JL‘KJJ/JI IJ/'/.._«J‘LM
45 Justify that organic compounds are used as foddv 45
,q \\ (\/ -wf_..ﬁ
46 How organic compounds are used as\fu\els'? et bl Jeig AU J:L%J,”ciy/.@?
47 How are alkyl radicals forng@&/ Explam with S oo S eSS 6
examples. \;\ 5 =
48 Define homologous seriéﬁgu JA s P Sz /;'J/ Ity
What are alkyl radicals? Write general formula . e
49 and give exampl& -L{/J./UJ”JbJﬂ/(/_.JdV?w‘ic{/gng g 49
Which compounds are amines? Give two i .
50 examples. _L{;ufgv»?ugd_M/ Um:y/:—c}:{ 50
51 Write general formula and one example of alkane. s JEe Ly ) ﬂ(ﬁq 51
59 Define functional group of alcohols. And explain S ’m"—'fu”ﬁ””-t{/ -/ J -.;-*’/( t};ﬁ Lk 59
alcohols with examples. P s
What is the functional group of ethers? Give i s B # wsif .
53 examples of ethers. 'Q’JVJ"/":‘"%&-’(@"[J’GK’%' 53
c4 Define carboxylic group and write their general ) J.‘."JJJ:MG Szt S A FE
formula. L -/ A |
55 Why are the alkanes used as fuel? e bllf Je1us L Lo /;(l 55
Why  alkane can’'t be  oxidized with . T i -
56 T ?L@_L/ S B2 u{fu:glﬁva:cf}‘KMn04
What are open chain hydrocarbons? Give an 5 s o e
57 example. -u[}dvbgl?ujgﬁ.f{uﬁl,ﬁc{,ﬂ
£g Why Ihydrocarbons are considered as basic e bl oD U AL T S 7 20
organic compounds? ,., 2.
£q z\ifl?;r:es('i)o you know about hydrogenation of e g_;‘i' Fa AL ﬁ,m B /.;U/' 59
60 ;/}flilaa;esgo you know about halogenation of ?uzllgg?fuﬁajyid&’ff}ﬂfﬁq 60

34 |

44 |

46 |

54 |

56 |

57 |
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e e e S O
I : — 7 1 . I
1 61 What is meant by substitution reaction? Give an L8 sl e ‘f”-/l S 61 [F
I example. e f- I
Write down the uses of chloroform and carbon e i B :
: 62 e e _u:‘.dg:.flllﬁ'“fﬁylﬂgl/u';(mr;burg 62 :
| 63 Write down the two uses of methane. _u:‘.‘”g aJJLJ“U)/:u:f: 63 |
What is the difference between straight chain and 5 3 :
i 0% branched chain? Ye-U/ iq uf%‘g"f'ﬂ‘w'f’%'g G i
65 :\;II:;;Z down two characteristics of homologous ) Jfﬁ&u B, Jy/ f,lyy; 65
| 66 Whatis hydrogenation? Give example. e Y e X, 66 |
| 67 z\l/ll{learfesc'i)o you know about hydrogenation of ST AL ﬁﬂJi’E : /“-ﬁl 67 |
3 [dentif f ith a chemical : 1, i
68 tese;l IIy propane Irom propene with a chemica " e s galiiagat 7 5 J{:‘f i 68
1| 69 Why alkenes are called “olefins”? ?@JM‘y‘jdn"u{;ﬂ 69 |
| 70 How can you identify ethane from ethene? 00 4;.;-.,»(;:‘_{ ﬁ'ﬁ;;lvﬁ?:ﬂ' 70 |}
: = —— ey ’ ) :
1 71 What are the addition reactions? Explain with an S eolore JE S ;El Sotin 71 [
i example. . > :
i Write the names of any two unsaturated I e i
1 HES hydrocarbons. 'Jfﬁftéﬁ"g’”"’ Jossf QS 72 i
J How alkenes are prepared from dehydro “ ’ 50 : . !
i 7 Q .2 n e / b [ ks , |
Il 7% halogenation of alkyl halides? Ok e T kS T3 ;
I How can you ©prepare acetylene from P 84 ~, 4 i
e tetrachloroethene? ?wék‘{w&}'&'%ywﬁﬁ?l 4
| 75 Write down some uses of ethene. \("1 _Jf’g = AL ZT 75
) What is meant by alkenes? Write their general /ﬁr\/’ } .l 5 g
: 76 Ta——— o {; \ O ,ﬂur;bdﬂggn?g_;lfg;;ﬂ 76 !
i Wh he diff lycol ~and . L :
| 77 gly;:al;s the difference between gyc? rfanid ?c;—U/gufJ/'dlf»deLf 77 |
i \ {\f T
! How halogenation takes place in allgeﬁpés”/ Write - . £ R o STy !
ﬁ i chemical equation. ﬂ..:-:g..-x O\S s L’”d-*l'{'cém éf(ﬁ’&zwﬁg g
| 79 How are alkyl halides reduced’x ?;Lt'lggu’xfk;dﬁ//)f&ﬂj/@l 79 |
i \\) & P |
| 80 How halogenation takes\p]ate in alkynes? P L:'y:zj/ Jf chff;{:fut ~ g1 80 [
What is the difference between alkanes and I
] = alkynes? e 0/ r gl ﬁ{' 81 :
| B Wr¥te down the preparation of alkanes form alkyl b #Lﬁw Fa 82 |
| halides. :
g3 How alkynes are prepared from dehydro St LF G e T I\ 35 B8 s a3
halogenation of vicinal dihalides? ¢ b
How tetra bromo ethane is prepared from T . o 4 i
| 8 acetylene? '%L”J’kéf@f”"f:’/"“"ﬁj' o4 I
| 85 Write down two uses of acetylene. _Uf’d _muu’*ls;&u:%' 85 |
! Question No. 3 D@pakcitv-org% 3 AUl ;
, Define Bronsted-Lowery base and explain withan = s b L st S i P S Ut b2
i example that water is a Bronsted-Lowery base. el AL S S [
| 2 Why ions act as Lewis’s acid? et Wb i Aud ST 2
1 Naltn_e two acids used in the preparation of ‘fdrtéjM,})L,,i_ﬂdw|U:JJL:'J;;;?L?/; 3 [
i ferilizers. * I
| 4 Name an acid used in the preservation of food. ..Jf‘j r-i:ﬁa,l,{lé_ué_/ [T FSOT I
| 5 Write the limitations of Arrhenius concept. Sl sl F Ly 5
I Define acids and bases according to Lowry and Lo e g I
; ) s Bronsted. Also give examples. -""for-%’fj J/: sk Ol Lo f A=) 6 I

Please visit for more data at: www.pakcity.org
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e e e S S B S )
F SUZS A
> Define lewis concept of acids and bases. Give Jﬁ’vg'iﬂ'-kf,/bé’ftfé—/’j"ﬁ)‘i’ ik L S
i example of each. I
| 8 How BF;acts as lewis base? ?af_r/(Kc)’Ju}JAL)JBFB 8 |
| 9 Write neutralization reaction. Give example. _q_’,adc"w.@glfg u""f ISaSor iy 9 :
| 10 Write the uses of sulphuric acid. S e 1 L S 10
i Elf;l:rv ;:'iv(?n Oz;cfl;]dosd. which are wused in the ] u.‘.‘”g(l: Zitind_isi S S Sis 11 i

12 Name the alkali used in the alkaline batteries. _uf’g ,*L‘Kfidl;a’.x&@*lutug K 12

13 Define hyperacidity. SIS SG A4, 13

14 Write two preventions from hyperacidity. _.J.:“‘J LS L | e ig;;,& iz 14

i5 Write ’the chemi-cal formula and wuses of S i i ST f‘:"’" 15

ammonium hydroxide.

What is meant by conjugate acid and conjugate s s JeLite s e U e FE L S 7K

You are in a need of an acidic salt. How can you

16 s 16 |
base? Explain with the help of an example. S sl i
, What is meant by amphoteric compounds? LIS S oloste st p U SIS SR 54 -
Explain that water is an amphoteric compound. e S 2 I
18 Write two differences between acids and bases. ..Jfg OAoornd o~ ks 18
What is the difference between Arrhenius base ]
19 f‘ <1 19 Q1
and Lowry Bronsted base? "'0/ WU Sl G T [
20 Define pH What is the pH of pure water? ?é_y/pH Jdgu”u_qf.@/JpH 20 |
21 What is meant by pH? Write down the uses of St F = L pH Sl e pH 21
The solution of hydrochloric acid is 0. OlfMi hat . :
22 Y R J’V ¢ L pHE U1 M0.01 7+ S iy, 22 |
is its pH? o il : i
3 NazS04 is a neutral salt while NaHS(M is an acid <4l NaHSO4 2 < 275 £INa,SO, 5%
salt justify? < e |
24 How are the soluble salfSEFécovered from water? ?d;LL?éJ” Lad: JJ Lfﬁ yr_,&k 24 |1
25 Why a salt is neutral, explain with an example? 2 ww;LJL":*?“:.lmu{ Jiged 25 |
26 How can you justify that is a basic salt? Sl Lrll J nE S Mwsé/.ff 26 |

e ] e s ) e ] [ e i P I i ) ] i e (el B e i [ B () e Ve Vi et e et e W e o el ) i P PO (i s s ) el U s R i Bl e el e e et e [ 5 i i P o) ) ) [ ) s S ) s P P e () W e W [ P S ) ol ) ey e i F® i i) i ey i ) ) e e ) S O e B

27 prenaredt? ?ujégt:d:a"_l?T_q_aﬂﬁdﬁ:)vu@ﬁlugi/ﬁ'f 27
28 Define normal salts. And give example. -J":JL":‘;;M’/ ) & J”VJ A 28
29 Define basic salts and write an equation. ..uf’J chsla Ll g S s P Ta Ly 29 |
30 Write down two uses of calcium oxide. _J.‘."J = 19 AT (:f-’( 30 |
31 Differentiate between basic salts and acidic salts. -u_j/ L3/ L/b) LS A ;,lu'ﬂ L fx | 31
32 Write down two uses of calcium sulphate. -u.‘.""g :Jlﬁ‘b;é&j*’ffg 32 |
33 What is meant by water of crystallization? Cesl pf e oI ST 2y 33
34 What do you know about double salts? Explain. Sk bbfﬁfj‘:_;giu’v LS5 34 |
35 Write down the chemical formula of gypsum. -fg UmG@g&f (f 35 |
36 z\if;;tle down the formula of potash alum and ferric ) JfUUr;E IS H:" S5 H:U&W 36
37 Write down two uses of sodium carbonate. -u:‘."g e sy ks 37 :
38 Give the characteristics of monosaccharides. _(_g/ L7 elos? S 9y 38
39 What is difference between glucose and fructose? _Lj“/fuj}u:j}()m}f:g 39 |
o o o o e o o e e o T o o ot o T o e s o o o e o e i o s i i ()

Please visit for more data at: www.pakcity.org



q www.pakcity.org . . Class 10th: Chemistry Guess Paper B
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1| 40 Give the characteristics of polysaccharides. ‘% pakcity.org %" U U los” J. }j»’l/(‘dg 40
| 41 Describe the uses of carbohydrates. ?Q/ Gl e Z.u"i;fu’l,:jﬁ 41
| 42 What are polysaccharides? Give examples. _L{;d’f d@mz_ sl /‘d # | 42
| 43 Define carbohydrates as energy source. -L{/ u_l._«.umﬁ.)u#.f J‘i;i’l,;{% 43
| 44 Describe the use of dextrose in drips. _.u;/ e &1 e 560 j/..(:” 44
/ Write the structural formula of glucose and - /
| as g I k)L K8 ¥ 45
i fructose.
| 4 What is meant by triglycerides? Give their JAKY Es S S Seslplf e 3112 p
examples and write their general formulas. _Jg‘j T
: Write the balanced chemical equation of : ,
] 47 . Y u.':.f[ , ‘j‘ g . Ly * 47
i hydrolysis of sucrose. Vo Sl S 1S
| 48 Why the ten amino acids are essential for us? E‘ugd-"“'ﬁ*nu{ ;;me_:;f Uy 48
| 49 How is gelatin obtained? e b bl 49
o How will you justify than amino acids are SUb Ly 1k 7 L’ILQ/#%)’&/(?T e
i building blocks of proteins? ¢ s
1| 51 Define proteins and write their basic units. _u:'."g(tfu" gd;giu’mlé_@/gf%% 51
| 52 Describe hydrogenation of vegetable oil. Uk _,,“.“*”gw Jfﬁ-’-’{' 5 | B2
| 53 What is the difference between oils and fats? ?.T_J/'guiﬂm)t"i' 53
| 54 Write the sources and uses of lipids. S S U %) 54
| 55 What do you mean by genetic code of life? N & Ce /T YST3 B2 55
. el
L RN

| 56 Whatis the function of DNA? & fr:"wg'x'\- - -J///WGKDNA 56
B i Vo W
| 7 N\
i ~A\Y) t‘/'/rKf;:ba:f“/RNAfu'éwand/u!
| 57 How you justify RNA works like a messenger‘? 57
E ‘ f.\ \.IK = ?4;;_
| 58 Write two major constituents of n\/éfemldes _Jf’g ¢! znd;g;;éi’u’xf v 58
I ~ C\ ;
1| 59 Why RNA s called messenger% ?‘at'ﬂf U 7 RNA 59
i N ;
{| 60 Draw the structure of DNA and label it. U/ J::'c..l.ulu:t; 4 #§DNA 60
g What are nucleic acids? Write the constituents of . o
1 61 _ Jfg W21 ek gl ¥y 61
: nucleotides.
| 62 Describe the sources and uses of vitamins A. S eVl s LA s 62
. Which disease is produced due to the deficiency S
4 63 . . ¢ : (5 Sty 63
I of vitamin K. *Ldydud}hdu[L?’Jd/JKu/“
| 4 Justify water soluble vitamins are not injurious to H ol Las 2 M- Bt S wolos ea
! health. 5
j What are the disadvantages of fat-soluble ;
i 65 : - ¢ ol s Ay mers 3 65
I vitamins? By ngci/t:fruf
1| 66 Describe the commercial use of enzymes. .uﬂ/ e ,;.J_E,,.JJ.L%'»L A7 66
i Write the sources and uses of two fat soluble 2058 S S e 1 & ol Jf:!y, s
| 67 vitamins. Also write the names of diseases caused . 67
1 by the deficiency of these vitamins. S el edd s
cg Write the sources and use of water-soluble f-’-f“-’wJUKJCJ'”’*UW")’JfLJ"E"Jfg”j" =
i vitamins. Also write symptoms of their deficiency. N
| 69 Write down four characteristics of water. S eeter® Sl 69
: How surface tension of water is important for
i1 70 ¢ 70
i land plants? d"ﬂéj'z:u”’)u“’c} ' ‘f/ JdL
I Why non-polar compounds are insoluble in ; :
il |72 | PV R P 02w UL PSS sty T

) water? 7% 3
O.- | i | [ i [ ) [ [ T /) . S (U [ 1 [ [ N D T ) N T S ) S [ S T Y i T T [ v T | T [ [ [ e S ) [ | [ ) ) W [ T T ) ) A O D [ [ S | [ [ ) [ S R [ [ -.O
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.- (] T Y S ) [, ) T, i W ) i, U T [ [ | S [ T U T ) [ O ] I T ] S T ) R i W T N [ T ) ] ) 1 [ ) | ) T T [ T T [ T [ 1 [ (] [ [ I Y [ N T R A T .-.(I)
1| 72 How water dissolves sugar and alcohol? et nfusd S sordl 72 |
1| 73 How limestone dissolves in water? S bnf < AR p bl T3 [
| 74 Explain how ionic compounds dissolve in water? et nf L ANES LTS S ooy 74 |
| 75 Water is a universal solvent. Explain. S eolose et ) 43 75
| 76 Differentiate between soft and hard water? S A Hazile 76 |
| 77 What are the causes of hardness in water? ctet I A 77 |
| 78 Write down the causes of water hardness. el = g,J W s 78 |1
| 79 How washing soda softens water? Ce b/l iy Qs B 79 [0
30 How temporary hardness of water can be D:bgf)’..f" g pLd /(r'/fu"’jfwéﬁftmﬁ 20
i removed by heating process? ¢ i
1| 81 How sodium zeolite softens water? ?ﬁ;l:'/ af L Qlesigidiy 81 |
: Write down two methods of removing permanent " . : ' :
| 82 s Wyl 82 |C
I hardness of water. fﬁ&f")’ nL LS w”""‘ft'{'d/dy: i
| 83 Mention the disadvantages of detergents. Sl eI ks 83
i What is the difference between biodegradable - Boe B
| 84 . ¢ BRI A S Lbusl J=14 7 ($5 84 |-
i and non-biodegradable substances? V7 Vurias/ Gty /gL ]
| 85 Why are pesticides used? ?ung:éJL&luxﬁi’v&fe 85 |t
: How detergents make the water unfit for the re o Y :
] 86 - Cor_t g A - ~5 86 |
| i d LAhLT 2 6 |
| 87 Describe the effects of industrial effluents. _FEX U4 c)l.«.;-.,i}‘léu’b‘}}su - AR-TRN
= o [,'h‘* “;\ ) = i : :
| 88 What are the reasons of waterborne diseases? q (\f/;\ St el Uredisd s a3 J, 88 |
i ALY\ = Il
| 89 Whatisjaundice? Write down its symptoms. o\\i‘i J £ AUt Vb, 89 |0
g NN - b ™ i
] Describe the chemistry of swimming: | ‘pool , . i
1 90 : e u . =4 S0k 2 90 [T
i cleanliness. ,_K%”;}KE‘”;\/ Q/UEJ/JGWJLJ!‘,&:’ :
i \ff\} ) 5 . 3 L f
i i A S akcity.or @a ;
& Question No, 4 - 4 /1y Brakeityorg@e |
! What is the difference between atmosphere and . o .2 .
1 1 . O\ P S J/ g e sl 226 1
i environment? Q> = i
i What is meant by atmosphere? Write down its 4 : i
2 » U 1€ sl =~k 2 |-
: composition. s it e :
| 3 Write down the uses of nitrogen and oxygen. WS .;-_,UL»’HLU?-/T sMPsFt 3|
i Why the 75% of the atmospheric mass lies within e ; oo ) 1
1 4 O b G 4 4 |
: the troposphere? R S D V(S !
i What is troposphere? Write down two ; ! i
2 - ¢ / b o
i ) characteristics. 'ﬂ“? U LR T
! Why the temperature of upper stratosphere is ; - !
1 6 higﬁ’er? P PP P S bnudol A6 A S sy 6 |
Differentiate between primary and secondary air se b p
| 7 TN ST S S A L T
) pollutants. S e SRR S A1 Ll I
1| 8 State the major sources of CO and COz emission. _Jf’g L /1L CO,5CO0 8 |
o What threats are to human health due to 502 gas B e e g SO, 48 Lt nLix 9
j as air pollutants? AT [
! What is meant by air pollutant? Give two , ) |
1| 10 Y P _J:dl?u?i.;l/tfc.%m[gi!ﬂ 10 |7
i examples. - : ) sl i
I What are primary and secondary pollutants? 3 bo b p i
1 11 . i “J¢ SO ey S mS Al 11 |0
I Write difference between them. LIS SN AT YGRS A i
|| 12 Why CO is considered hazardous for health? ?ﬁ-_t'tggjﬁuyﬂ/ﬁéﬁﬁfco 12 |
| 13 What is meant by air pollutants? sl e P F | 13
| 14 What is meant by incineration? e Ve 2 14 |
h o
O- | i | [ i [ ) [ [ T /) . S (U [ 1 [ [ N D T ) N T S ) S [ S T Y i T T [ v T | T [ [ [ e S ) [ | [ ) ) W [ T T ) ) A O D [ [ S | [ [ ) [ S R [ [ -O
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| 15 Write two sources of COx. _ZFrwndCo, 15 |
16 What is meant by greenhouse effect? Cesl ,l oS 16
| 17 Write down two effects of global warming. S F sidipnd B k¥ |17 |8
18 How acid rain increases the acidity of soil? ?‘LJ/JWU{:&MJC)Q@)JQJ@J 18
| 19 Write down two effects of acid rain. _q/ et Zinl ity 19 |
20 Why acid rain damages buildings? ?,T_J/@Wx.( I UM LAl 20
| 21 How aquatic life is affected by acid rain? ?,.:-_Sﬁﬁt'»d"/;,?di';,q; fa |21 I8
29 E{())EVLS responsible for heating up atmosphere, _g.&*u:f&ngL/rfffa’flcoz 29
| 23 Point out two serious effects of ozone depletion. ..L,gj/ c),lf,@l}'lﬂ/ £ 23
24 How ozone layer forms in stratosphere? ?.{_5‘4/ Pl e /:‘;“’ % 2 | 24
- ?h(]ijroﬂljorooczac:‘gins;ayer | Sg—— ?%%Uwé‘q/; Sosiepuklifsnk 25
| 26 Why CO: is called greenhouse gas? ?{_JM U u’f u’il,qu co, 26 |t
i ,-» Why oxides of nitrogen are formed by burning of L Pafte LISV 5 b{‘/ J A -
fossil fuels in combustion engines? e Uit
28 Write down one advantage of ozone layer. L Fi8 L6 7 S 28
| 29 Define ozone and ozone hole. -L_{/._g/;"Jdﬁwjgmiw};l 29 |
30 What is ozone? How it is formed? r‘\; ‘7',:._@;' T /H/ ,_,?;_qu,;,l 30
| 31 Explain why plants are dying day by day? 5 )\ ) QJ’C-M’()U:{UAUJ«*—»’U:’(J/JLH 31 |
37 What role is played by pine oil in the Fm\ ) ?LJIJ/JKJTJLL)’:Q/MJ’*’;BE!) 39
! flotation process? 2 f,_.i..:;\;; = g ¢ ¥ :
| 33 How is roasting carried out? Jﬁ»}\/ ?;_&L?J C/ )’J/ _fty, 33
L 34 Explain process of electroreﬁmngw N el §UT s LBy 34 |
| 35 What is meant by metallurgy? .. Y sl pfe G4 35 [
1 36 gzls“ce down the dlfference\i‘jetween minerals and Sl ahatd | 36
37 What is the difference between slag and matte? Se AR Al flr | 37
| 38 Explain the concentration of ores. -n.{/&?u-’JcJJﬁ'/}’Q/ Simi 38 |
39 What is meant by froth floatation? sl U, B 39
| 40 What is meant by electromagnetic separation? sl fU = 5,@?3 M40
A1 What is meant by roasting? Write its chemical Sk lir L (e e s 4
reaction with respect to copper metal. Wl u:_f ,
o], ot it S it [ S e =]
: | SN |
| 43 What is meant by bessemerization process? Sesl p e U7 sy A 43
44 How slag is formed in smelting process? ?g-ﬁ'fé(u.@'ufu/ :{.ﬂf 44
| 45 What is meant by anode mud and blister copper? Cesl pfe 16 2k 435 45
| 4o Wite down the ol of sehmolomy i e S Reneuspin 16 |
| 47 What are the advantages of Solvay’s process? SR T e 4T :
48 What happens when ammoniacal brine is Vﬁﬂ’dfﬁg;«?-&?Jﬁﬁf!(t{tj%f’”’ﬁ 48
i carbonated? Ce :
re)
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O e e e e e e e e e ——————————=—— O
{| 49 How NaHCOs is converted into Na;C03? S tbl 47 Ut Nay,HCO; &£ /NaHCO; 49 |
1 s0 How is? ammonia recovered in the Solvay's e bl P ooks Wy S e 50 |
i process: ik ek : i
| 51 What is meant by calcination? ?‘L;I/ga,aﬁfu’g 51 |
5 Draw the flow chart diagram of Solvay’s process ('4‘5-’-’*’:)" Ju’:{.a—:’wf VPR NRTY {312 59 !
i for the preparation of sodium carbonate. L i
| 53 How COzis prepared in Solvay’s process? ?‘LJ@JJ.@'C“',/COEL/:J/L{:;)JV 53 |
: Which raw materials are required for the - ; . :
¢ - 5 ok e R Ay

| > preparation of sodium carbonate? Onenp SRS L Lok becnntsr 54 i
! How does carbonation of ammonical brine is : ap s :
i ¢ o[ . -
1 23 carried out? 'dﬂ'dl?‘f‘é/u)’f"g‘fw’ffﬂ 9" i
1 <6 Write the preparation of ammonia in Solvay’s ) uf,d Sl e | 56
: process. i : I
! Write the names of two raw materials used in the . ; " .
| - preparation of urea. 'Ufgf{'éd-/{'*’”g—"d-"fd[“”u:d&U/.L.JX 57 :
1| 58 Describe the method of granulation of urea. -q/gg;g)?ﬂ;&ﬁfpg 58 |
What is the percentage amount of nitrogen in e . "
i it urea? Write the formula of urea. “Jfﬁfﬂmbgw'%g JIWMJ&’/ bl | 22 i
60 m}?t is refining of petroleum and how it is carried ?c;(jngdﬁ;ﬂlagf@JJﬁ-:ﬁ, 60
| 61 Give a use of kerosene oil. -J/'/// JLW(._IIKJ I ¢ / 61 |1
i Describe the difference between diesel oil and fuel TN TP :
| 62 1 LRGSR STy 62 |
: What is the difference between crude oil and \ffr‘ i £ s :
| 1% tesidual ail? g IS Tthr ST/ 63 i
| SN\ e b i . |
|| 64 Whatis the principle of fractional distillation? < »\“{\:' ?‘:.;._L:-'Uy‘lﬁf:kx j’J/{/ 64 |
| 65 What is meant by refining of petroleum? <\ é\k Jl ?%;I/g;;,.@’@;&ﬂﬁ, 65 |
| 66 Write down two uses of petroleum et{tef‘ _.uf‘g Sy /"f.l(ﬂ; ~ 66
E Write down the names of two, fragt?ons obtained e A .
: 67 from petrol. b\\l:f _J.'.@J(Lz:/*g/udfdbd.ﬁdibc;(d;ﬁ: 67 :
! Which petroleum fraction\is not used in dr . g 4K !
1] 68 P? . IQD y ?dgﬂd%lﬁ/ﬁ:ﬁdufaﬁdw‘ 68 |-
i cleaning: i
| 69 Write down two uses of petroleum gas. _fg el ind e fil-; = 69 [
é 70 Write down two uses of fuel oil. -uf’ﬁ =Wl SR 70
: Long Questions o) yd’f‘” |
I : :

: SECTION-II 48 pakcity.org B 295 dya> ;
{ Question No. 5 5 e Jlgw :
| Describe a reversible reaction with the help of an . - I
i ¥ ” » S > * & 1 ]
! 1 example and graph. Q:/.....'?Los‘fu"(ld)w‘)zj;),b JJ'/)J'JV :
i Write the macroscopic characteristics of forward oy Fellslas® L5 =187 L !
| 2 and reverse reactions. What is the difference . N - 2 I
I between forward and reverse reaction? LSO SIS I
State the law of Mass action and derive the é/d)g&Ldig,djdﬂj,”,u/@f"uigwdw
1| 3 expression for equilibrium constant for a general ) R . ..o 3 |
i reaction. " 'W//g i i
State law of mass action. Also derive equilibrium d:{'i[-u"'/'dia:’Lmi Sk u’f!u’l.._zifu
| 4 constant expression for the given chemical I
reaction. LS e / :
| 5 Whatis the importance of equilibrium constant? _;{/513?‘:-_.{%4@&((5/6&
I Define an acid and a base according to Bronsted- ” - R T !
il a Lowery concept and justify with examples that LU’JW"L{/’E}J St s i 8o Lor¥ 1823z 6 I
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11
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14

10

11
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13

14

water is an amphoteric compound.

Explain the Lewis concept of acids and bases.

Make a comparison between the properties of
acids and bases.

Describe Arrhenius concept of acids and bases
and explain with examples. Also write the
limitations of this concept.

What is meant by conjugate acid and conjugate
base? Explain with examples. Write the
limitation of Lowry-Bronsted concept.

What is meant by neutralization reaction?
Explain with the help of examples.
Define a salt and
characteristic properties of salts.

give the

Define salts. Write the chemical composition and
important properties of salts. Write examples.

What are salts? Explain the following salts with
the help of examples. Double salts, mixed salts,
complex salts.

Question No. 6

What are carbohydrates? How monosaccharides
are synthesized? Give their characteristics.

What are polysaccharides? Give their properties.

Describe the classification of carbohydrates. Give,
examples.

What are oligosaccharides? How th§y(jaf"e
classified? Also write their propertles %

Explain the sources and uses ofm'@féfln’é

Explain the sources and useé\éﬁlplds

\h".

Describe the sources, “uses and deficiency
symptoms of water-soluble vitamins.

Write the detail of commercial importance and
uses of enzymes.

Write the properties and composition of water.

How polarity of water molecule plays its role to
dissolve the substances?

Explain the methods of removing permanent
hardness.

What is meant by water softening? Explain the
methods of removing temporary water hardness.

Explain agricultural effluents are fatal for aquatic
life.

Explain water borne diseases caused by polluted
water. How can these be prevented?

Question No. 7

What are hydrocarbons? Write down

classification of hydrocarbons.

Describe substitution reaction. Explain it with
the help of halogenation of alkane.
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| 3 Write the uses of methane and ethane. _Lg/ u’Lf...-.-.fULM;Cu;‘?’“ u,el‘_-;ff 3
Define hydrocarbons. Write down two methods & ’ -
| 4 L 2 y PSRk, 4
' of the preparation of alkanes. ""é’ff &/l dk Jﬂq 'u"/"'y/ Jf' 22
c Explain different methods of the preparation of NI NAT YR I S i | 5
i alkynes. -
| 6 Write down the uses of acetylene. _.J.'.J &UL»’*“ILU:-L-’V" I 6
. Explain the process of roasting with reference to i Fstnal Pl B L ip | 7
i copper. . ~ :
| 8 Explain briefly froth floatation process. ..qj/ c)gaﬂ J~ % jf? L2758
| o What is meant by smelting? Explain with Suiuutae Lz L Kies e O .
reference to smelting process of copper metal. S e
| 1o Define bessemerization. Explain with reference SuTnuie s LS Kyl S+ 7~ 10
i to bessemerization of copper metal. Sl
1 11 How s?dlum car;bonate NazCO3 is prepared from ?‘__ngwd/ N0 et e s e 11
| Solvay’s process? P e 4
| 12 Write the advantages of Solvay’s process. _J.:""J I sy I 12
How urea is manufactured? Explain by showing o
11 eolose K BLES 2 o bl 1
i ] the flow sheet diagram? '“Zjb}u’;r';l)“r’b/’ ;.L@Lf % ‘/*L'Jz /
What are fertilizers? What is the difference . . - _
| 1, between natural and artificial fertilizer? Also A ub&g{uﬂ;;yﬂﬁ S5 il kS S 71/ T
I explain that natural fertilizer is better than \ /.{/;_Jmu St IRE S S ol
1 artificial fertilizer. " ? (NS ) ) i
1 1c What is meant by fractional dlstlj.la‘gr@ﬁ?) UL”J:’J:/ ‘-}/( v ij’/' ke l’(‘:"fﬁ/ ‘-}/{ 3 15
Describe fractional distillation of petrole,gfn o iy
; \U <-r> \:j—
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